SOKSON

Planetary Gear Reducer
'?j_- E;@ \ﬁi *J-L Ver: 09/2019

® SiEFIS®E  Multiple speed ratio and high efficiency

® FWZEMAEFR/N Compact and small in size

® ZHRFERIEF/K  Smooth running, low noise

® FHOSESEI Reliable use, long service life




| —

NGDA INSTRUMENTS @

H vl —REWEFTERRLBEINTAL, BMNHAEZIMEBIZORAN
AP e N TR E, B EHES R ET T ZRE WEFRBERER,
A XBRERAHAGFIESHEERENN X, R-mEcECEERES
E N VLR E AL IS R I, KIS, L. R, 8. Yz AFE5]
I, 3R,

-1

=8k, Bl ]F K. ELFERIN
FR AT IR IR PRIV SIANSZHF, AL DR BIRERK,

TERRRENERWNT. =%, EiE. 4
BEER. ZHEHEIX, F
EFERBNSTE!

HA—BFRAMRRATI R, FIR-

-, BFEAY, BRINBIDITRENE
FRE LR TEMBERMNE. ARFELERNEWFEMSE.

QOOGLOOO

CONTENT

H xR

FHA R

Helical teeth series

8~71

BRI
Straight teeth series

72~125

1R e < 5 SR IRLE L 2R 5

Spiral bevel teeth series

126~152



BIR / = R4 PRODUCTS FEATURES

o} @i o} @M
PRODUCTS FEATURES & PRODUCTS FEATURES

R ANF—RLAETm, e TERNSEHBEA, BEFUT—EXERRA:

BETEARRMENEERATE
1. {RI2E: 1&EF 65db

2. BERR: BRONA3RAA, WROIX 5 RSTAH
3. BRE: BERAE 95% AL, WERINE 92% AL

4, SEINE®E: BJiX 8000RPM
5. 516 : tbk—tnETERENAES
6. Bt EM: XHERERENM, BERERALENLE, ERFxREEN, BRERASFTREBAERNRSRVNBE
7. BEGR : FEBEBMEIT, TEEMEUMEEBEES, EED[IX 1/1000 LA E
MBI EBENEEEN, &k - B S48, A H ANSYS S ARAX &8 EHITE Rt
M AR ﬂﬂﬂffﬁa‘@&#ﬂﬂﬁﬂm*ﬂm HHTSITE‘?E{’E EREEER LA:J&‘IEE@E‘BWE

AE{JIEP L-I#Dﬂ;lu: im)]ﬂu%%ﬂ*]ﬁ : DI'J

Precision planetary gear reduce is a new-generation of product developed by our company,with a compromise of
advanced technology both at home and abroad,its main features are as follows:

ZPB Z 51| F 45 1. Low Noise: Under 65db.

. Low Backlash: Backlash is under 3 arcmin.Backlash for 2-stage speed reduction is within 5 arcmin.

. High Efficiency: Efficiency for 1-stage model exceeds 95% ,For 2-stage model exceeds 92%.

2

3

4, High Input Speed: Input speed allows for up to 8000 RPM.

5. High Torque: Higher torque output than that of conventional planetary gear reducers.
6

. High Stability: Employs high tensile strength alloy steel. Gear hardening is made for the entire gear instead of only surface

hardening,which extends gear service life and maintain high accuracy as new after a long period of operation.

EMHTEREA—AI (XEIE) NSkt
mFﬂﬁkEﬁﬁ?~ﬁ¢W iR ER—
BREH, DBERRESHENMSEASE

7. High Speed Reduction Ratio: The gear reducer is a modular deign.The planetary gear box can be connected.Speed reduction ratio is

over 1/1000.

(o} FRAR
PRECISION USAGE

BETERLRENE 2R AT AT S

A & 'iﬁtljnﬁi% — iz, RKABAUEWN 1. =i k. EF=A

M, BT, NTMIRERENBEEE, PAHS 6l R =EXA AR, NN o ESFPAE. B =EBEAR

— AR RERIE B T R S — RN T 52 Haf, REHPENRN, B3 WIg%E 508 = =

B SETHHRE. LEXRZELMELKAESE 7]@‘155 ﬁs‘&ﬁﬁi@%*ﬂﬂﬂ%ﬁ]ﬂ% SIS 3. THLzA . EFBotk. VLRSS

R AR ETRRAMNIEE, 4RESNS. A, BRI, BR. AS. FETR. SRS

Precision Planetary Gear Reducer is widely used in the following
domain:

1. Aerospace, military industry.

2. Medical health. electronic information industry.

3. Industrial robots, Production automation, CNC machine tool manufacturing

Industry.

4 Motor, textile, printing, food, metallurgical, environmental protection

engineering, warehouse logistics industr.






SOKSON

#EiR / Zmi2 AN Coding rules

ﬂnﬂ.ﬁ*a I \ E E :
FrmRIVER L Rk B = |
ZPB, ZPBR, ZPD, | | s s 1 B S

3! 41 51 7'.' 101 Sl ::f% E

-
ZPDR, ZPF, ZPFR, | | L mmsspme
1o %0 | S2EEwR Bl B | Hellcal teeth
ZPE, ZPER e i A |

........................................................................................................................................................................................

— S series

LT L

SRR BT
42,60, 90, 115, 142, | P1LEEMUR 5
180, 220, 280, 330 L PR
v D)
% FAEH : ZPB90-20-S2-P1-BCH1304N11A
£ ZPB RURAMINE (iBK) 200, 20, MERMIE, HEWIR, EHEAHE BCHL304N11A B4l z 5”
7N

HIL ]

Z PB series
25

ZPBR series
25

Z P series
#5

ZPDR series
25

Z P series
25

ZPFR series
#5

Z PE series
25

Z PER series
25




A5 / 7PB X7l / HEA 211538 / 7PB K7l / EEESH B RE S

{oy ZPB &%k gEZS%3FE /| ZPB Series Performance Table

LPB

= 5'] #14% Model B Unit T # Stage RELL Ratio ZPB042 ZPB060 ZPB090 ZPB115 ZPB142 ZPB180 ZPB220
m ]\
0 3 20 35 130 208 342 588 1140
N il 19 50 140 290 542 1050 1700
5 22 60 160 330 650 1200 2000
1 6 20 55 150 310 600 1100 1900
= 7 19 50 140 300 550 1100 1800
r 8 17 45 120 260 500 1000 1600
14
10 14 40 100 230 450 900 1500
12 20 55 160 290 542 1050 1700
15 20 55 140 208 342 588 1140
a7 A 4 46 - 16 20 55 140 208 342 588 1140
Rated output torqueT2N 20 19 50 140 290 542 1050 1700
25 22 60 160 330 650 1200 2000
30 20 55 150 310 600 1100 1900
2 35 19 50 140 300 550 1100 1800
40 17 45 120 260 500 1000 1600
50 22 60 160 330 650 1200 2000
60 20 55 150 310 600 1100 1900
70 19 50 140 300 550 1100 1800
17 45 120 260 500 1000 1600
100 14 40 100 230 450 900 1500
SEHzE — :
= i = {2 &5
SR ecnt Nm 1,9 3-100 ={EZEE M %8 | Triple rated output torque
& i
SERAIRE 1,2 3-100 5000 5000 4000 4000 3000 3000 2000
Rated input speed n,y
= : rpm
 RARAR 1,2 3-100 10000 10000 8000 8000 6000 6000 4000
Maximum input speed N4
—_—— 1 3-10 <3 <3 <3 <3 <3 <3 <3
= 26 =t BiD B PR :
IE ﬁbtl:".l':'#u FUTURE Precision backlashP1 aletin
2 12-100 <5 <5 <5 <5 <5 <5 <5
| .
HFNIE Nm/arcmin 1,2 3-100 3 7 14 25 50 145 225
Torsional rigidity
ol #52 ¥ > NFR
® AR [EFZE]RR SRR N 1,9 3-100 780 1530 3250 6700 9400 14500 50000
Allowable radial force F.z
= A 4T
® =0V NI BV
. N 1,2 3-100 390 765 1625 3350 4700 7250 25000
e T Allowable axial force F..o
® NS e [ERE
. Sevioa [ifa hrs 1,2 3-100 20000
® SR
o v 1 3-10 >97%
@ RIES RS G ’
L Efficiency ’
® SHAEIHIB RAEI 2 12-100 294%
_ 1 3-10 0.6 1.3 3.7 7.8 14.5 29 48
B8 ke
Giress weigh 2 12-100 0.8 1.5 4.1 9 17.5 33 60
1.Extremely low-backlash i ' ' ' '
2.Highest torsional rigidity _{Eﬁaiﬂﬁ ° 1.2 3-100 -10° C~90° C
Working temperature ’
3.Extremely output torque =
. . S 1.2 3-100 & hiEE R AE /| Synthetic lubricating grease
4.High efficiency Lubricating IR R =Y B
; 2
5.Low noise Fg*gfi 1,2 3-100 IP65
6.Maintenance-free grease lubrication AT - o
Installation direction 1.2 Egiil fER731@ / In any direction
I2Z{E (n1=3000rpm, L& % )
Noise level (n1=3000rpm. off load) dB 1,2 3-100 <60 <63 <65 <68 <70 <73 <75
9 10




S5 / ZPB X% /!

& ®aiR

#14& Model

HERE J,

B ] Unit

Kg.cm?

a

R4

= &5 Helical Tooth with Moment of Inertia

¥ Stage R)ELL Ratio ZPB042  ZPB0O60  ZPB090  ZPB115  ZPBl142  ZPB180  ZPB220

3 0.03 0.16 0.61 3: 729 9.21 28.98 69.61
4 0.03 0.14 0.48 2.74 7.594 23.67 54.37
5 0.03 0.13 0.47 2.0% [.42 23.29 D327
6 0.03 0.13 0.45 2.65 1..29 22.756 5l1.72
s 0.03 0.13 0.45 2.62 7.14 22.48 50.97
8 0.03 0:13 0.44 2.58 .07 22.59 50.84
10 0.03 0.13 0.44 2597 .04 22.51 50.63
12 0.03 0.03 013 0.47 2.1 7.42 23.29
19 0.03 0.03 0.13 047 2.71 .42 2329
16 0.03 0.03 0.13 0.47 2.71 7.42 23.29
20 0.03 0.03 0.13 0.47 2.71 .42 23.29
25 0.03 0.03 0.13 0.47 2.71 A2 23.29
30 0.03 0.03 0.13 0.47 2.71 .42 23.29
39 0.03 0.03 0.13 0.44 2.71 .42 23.29
40 0.03 0.03 0.13 0.44 2.71 (.42 23.29
50 0.03 0.03 0.13 0.44 297 7.03 22581
60 0.03 0.03 0.13 0.44 2.9( /.03 2251
70 0.03 0.03 0.13 0.44 2.57 /.03 27.01.
80 0.03 0.03 0.13 0.44 2.0l .03 2251
100 0.03 0.03 0.13 0.44 2.1 /.03 22.51

11

Bl / ZPB E5 / IMES RS

ZPB042-L1 4MEZE Profile

86, 5

24

a0 (142

LA

[

8|

p 35gh

16

P17

1a

]

I

|

I

|

I

I

A N I

|

p BF7

p 30G7

(i |
e
=
x|
&
\'1

26

M40 7P M4 0 7P

of (7&)
N
R 81 A sz 2136
T LEAERENBIRSY, BARRToRIEEABY R~ EH
ZPB042-L2 M2 E Profile

104, 5

26 9.5 142

3.3 4

16

< 35gh
@17

N\

10

s &1

=
|
|
|
I
|
|
-~
G 2BF7
o 3007
v : 7 !

Md >0, 7P

-5 £
44 =B &

26

M40, 7P

HIAE T 52

x: DEARAENBEINRY, BARRIIRERAEIRTES

12




e / ZPB 5 /| IMES RN

BliE3¥ / Z/PB &5 /| INEE R~ B RE S

ZPB060-L1 7MEZFE Profile ZPB090-L1 7MEZFE Profile
[]40 C7 L1c? 90 c7
; 1c9
:__{-f 5 37 7 R :-E“l 25 55 = - 2 S .&5- LT
= K<< TN n N S
w i = . .a \
| (7 IEEIEEr 7 )
=== I = - | Y A \o._} 4 5 2 , gy L NV ]
s T o | o \ \_\//O | a7 L L H A \\/O |
i \ I T \ /
12 | e O || y € /9
| \ ,-/ 20 | \%, /
. 2 — \j\?i_h - /\d/ - - Su f_)g:/
— 1.5 B
7 s . \g - cs c2 o,
C5 cs
- M X 1. 25 ST wg1. 25P
M5 X 0. 8P M5 X 0. 8P
R %
HHBIIKE 51 §REI, 2 B16jé BRFSTE S $22j6 BFLTE §2 $328
x: LEAEHENBIRST, BARRToRIERKRBIRYT EH E: LEAFEHRENBIRST, BARRToRERFBIRT E S
ZPB060-L2 JMEE Profile ZPB090-L2 9MEE Profile
0%d 67
160 e? Wi, e 25 | 45 5 ~ O ¢9
47 2 & ) % ' b8
~ L O . =
2 | / \ i
| 1 © Q| 2 B i “[“
o o E o e = B N\o - 2 s [yl I
o 4 1 2 O | I £ g L . ++
R CTAY T ' SRS &
B | |
| | © o /| I
12 I \_l / 20 =
- = N o -y — N
7 Gy 07 \@3 10 Co
o5
e B e g M8 3 1. 25P oh®_ wgx1,28p
ST Lwinig ) ~/
ATt 81 [ @16i6 AT, 52 B 166 M e e s
X UEAEBRENBIRYT, BARRTREREBIRT E X LUEAEBRNBIRYT, BARToRERAEBIRT E

{8} R~F% size {8y R~ size

R~ C1 c2 R~ C1 co
ZPB-060-L1 70 4-M4x10 <14/<16 50 37 8 116 29 65 ZPB-090-L1 90 4-MbEx12 <19/<24 70 50 8 150 205 80
/ZPB-060-L2 70 4-M4x10 <14/<16 50 37 8 139 23 65 ZPB-090-L2 70 4-M4x10 <16 50 37 8 160 23 65
13

14



e / ZPB 5 /| IMES RN

PiE¥ / Z/PB &5 /| IMNEE R B RE S

ZPB115-L1 9MZE Profile ZPB142-L1 9MEZE Profile
15 - 0ce C7
o) \ &5 11] 0/ Q7 12 Co
~<>( Y s .. Vi
_ 1 = |
/® : \Q\ 3 44 i ] &5 I:
/ ' \ l . B -
\ | -3 R o Q‘m = — — = |_ | - :@i o
17 W N I == g e : i ik
\ 7 | e I B -
\| / } 36 ':
i / 78 |
NG B - :
S 2
- 15 Cé&
4-19 2 - o G5 o A —
C5
M123 1. 75P Wby yyaxq. 5P W16 2P e M16 3 2P
@l 4 /- o
NS/
A=t B 326 4 B 3216
e WA o Ghgst s1 L2406 GhEgst s2 240
i U EAEHEENENRS, SMARRToRIEEARBYILRS EF i LEABRENBENRSY, BARRSToIRIEEARBY R EF
ZPB115-L2 9MZE Profile ZPB142-L.2 9}MEZE Profile
O115 ) o7 1142 Z
&5 10 - 97 12 s
C8
\ > r
5| 40 | ’ - i
| |
| - b=k e e =
3 7 S ] [ # I
| |
36 |
93 :
)
) L& 7
C5 : .
2'__' 15 G5
12
12h9
1231, TP Wah? w1231, 75p it Bloxsh
@ | (@ &
A st e Wik 2 |Lewie st st emie] s e
*: PUEASHEENBEYRSY, AR oRIEEARBYLRST EF *: PUEATHEENEYNRSY, BARRToRIEEARBYLRT EF

{8} R~F% size {8y R~ size

R~ C1 eo R~ C1 C2
/PB-115-11 145 4-M8x20 <35 110 60 8 198.5 39 130 /ZPB-142-11 200 4-M12x25 <42 114.3 82 8 262.5 39 178
/PB-115-1 2 90 4-M5Ex12 <24 70 50 8 2125 21D 80 /PB-142-1 2 145 4-M8x20 <35 110 60 8 281 35 130

15 16



PE¥ / Z/PB &5 /| INEE RS PiE¥ / Z/PB &5 /| IMNEE R B RE S

7 = = 7 e .|
ZPB180-L1 9MZ[E Profile ZPB220-L1 9MZE Profile
(1180 C7 Ll ce 0220 &7
mfee
105 15 ca ) g f,ffEiﬁ#ﬁffﬂ_*&h‘ﬁkﬁﬁggi“\x\\ 138 20 ca Iy 45
2 e < S S , s
: | b O | e R |
: = | ﬁ{ | bi 45 90 |
| _j{ \\_ I
: / |
= (7 =] I~ -0 i
=TI [ " {1 O [ ;}_ \ a g His | PR
SR = 1T 4% | & j g 9 1 T 9¢
40 I \x | / A0 I
| A @/ |
| ' |
3 \:4-"\ — - ' /
) e \% 3 Cé
20 p.g 4317 U, - N .o 5
C5
20R%?
1 6he M20 % 2. 5P M20 % 2. 5P
M20 X 2. 5P M20 3 2. 5P @ =
1 I m % - T A A=} aulle E N ; ol
@@/ & N, N7,
§AZTE, S 55 b SHAZTE S2 H55 b WAL, & p75j6 WiHt 82 p75i6
i U EAEHEENENRS, SMARRToRIEEARBYILRS EF F: U EAEHEENENRS, BARRToRIEEARBYLRS EF
7 = = 7 e .|
ZPB180-L2 9MZE Profile ZPB220-L2 9MZ[E Profile
0ce mle
105 15 ca = 25 138 20
> C8 W )
N \
& 70 ) | 4 5 Q0 ‘) E
i !
g . TR B H s 111 B8
< 1 | Ll & =1 _ _ L1 1 &5 &
D e R =R HEEEE
IS A
40 | 40 |
> ) '
3 /.
Cd 3 —-F—f'-—
£ Ch 30 Ch
200
18RS Mz20 =2 5P MzZ0x 2. 5P

M20X 2, 5P W20 22 5P =~

()
&
N

/7

£y P 2o e $75i6 B73i6
HHL'IL S1 pIHI0 HHJTL 82 b 5516 Hyf__}t 29 ﬁﬁii o

x: DEARAENBEINRY, BARRIIRERBEILRT EH x: UEASHEENENRY, BARRTIRERBEIRT ES

{8} R~F% size {8y R~ size

R~ C1 eo R~ C1 C2
/PB-180-L1 215 4-M12x25 <48 180 82 8 290 39 190 /PB-220-L1 239 4-M12x25 <hh 200 116 8 364.5 40 220
/PB-180-L2 200 4-M12x25 <42 114.3 82 8 329.5 39 178 /PB-220-L2 215 4-M12x25 <48 180 82 8 415 35 190

1i# 18



&5 / Z7PBR ZE 4% / HEK 2|53 / ZPBR 7l / EEESH B RE S

Z P B R {ey ZPBR Z5 82413 /| ZPBR Series Performance Table
SERIES

= 5'] #14% Model B Unit T# Stage RELL Ratio ZPBRO042 ZPBR060 ZPBR090 ZPBR115 ZPBR142 ZPBR180
74N
3 20 35 130 208 342 588
4 19 50 140 290 542 1050
5 22 60 160 330 650 1200
1 6 20 55 150 310 600 1100
7 19 50 140 300 550 1100
8 17 45 120 260 500 1000
10 14 40 100 230 450 900
12 20 55 160 290 542 1050
15 20 55 140 208 342 588
a7 A 4 46 - 16 20 55 140 208 342 588
Rated output torqueT2N 20 19 50 140 290 542 1050
25 22 60 160 330 650 1200
30 20 55 150 310 600 1100
2 35 19 50 140 300 550 1100
40 17 45 120 260 500 1000
50 22 60 160 330 650 1200
60 20 55 150 310 600 1100
70 19 50 140 300 550 1100
80 17 45 120 260 500 1000
100 14 40 100 230 450 900
TVl S O S Nm 1,9 3-100 ={EZEE M %8 | Triple rated output torque
@Eﬁj AR 1,2 3-100 5000 5000 4000 4000 3000 3000
Rated input speed n,y
= : rpm
. Hﬁx.ﬁ ANFIR 1,2 3-100 10000 10000 8000 8000 6000 6000
Maximum input speed 1z
—_—— 1 3-10 <5 <5 <5 <5 <5 <5
= 26 =t BiD B PR :
IE ﬁb!l:"—"f'f_i FUTURE Precision backlashP1 SlEUIn
2 12-100 <7 <7 <7 <7 <7 <7
| .
*.HE ME. . Nm/arcmin 1,2 3-100 3 7 14 25 50 145
Torsional rigidity
ol #52 ¥ > FFRE
® RAEEY[E 28] B ﬁmiﬁjj N 1,9 3-100 780 1530 3250 6700 9400 14500
o Allowable radial force F.z
® SHHREANE = e ) N 1,2 3-100 390 765 1625 3350 4700 7250
@ *RFEJ-BI{ ﬁi H 46 Allowable axial force F..o ’
' ERED
L 2T hrs 1,2 3-100 20000
® SWXK Sevice life
= i 1 3-10 >95%
@ KIEF RE . ’
. — Efficiency
® HfEEB LI 2 12-100 292%
@ FEZ it 1 3-10 0.9 2.1 6.4 13 245 51
£ ke
Gross weight
1.Extremely low-backlash 2 12-100 1.2 1.5 7.8 14.2 27.5 54
2.Highest torsional rigidity Workir%iﬁirature ° 12 3-100 -10° C~90° C
3.Extremely output torque =
= A JAE)SEL > | =] = 5 =
i High efficiency Lubricating 1,2 3-100 S i B AR / Synthetic lubricating grease
) 2
5.Low noise E?gﬁi 1,2 3-100 IP65
6.Maintenance-free grease lubrication ot
& st lﬁﬁﬁ d@ " 1,2 3-100 f£2 [ / In any direction
7. Transmission diversity nstafiation direction
118 (n1=3000rpm, TR % )
Noise level (n1=3000rpm. off load) dB 1,2 3-100 <63 <65 <67 <70 <72 <75

19 20



U5 / ZPBR &5 / I

{oy H#DIIBEH15 Helical Tooth with Moment of Inertia

14§ Model EBE{if Unit Ti#{ Stage @iELL Ratio ZPBRO042 ZPBRO060 ZPBR090 ZPBR115 ZPBR142 ZPBR180

3 0.03 0.16 0.61 3.25 9.21 28.98

4 0.03 0.14 0.48 2.4 7.94 23.67

5 0.03 0.13 0.47 2.1 .42 23.29

1 6 0.03 0.13 0.45 2.65 7.25 22.75
i 0.03 0.13 0.45 2.62 AL 22.48

8 0.03 0.13 0.44 2.58 7.07 22.59

10 0.03 0.13 0.44 2.57 (.04 2291

12 0.03 0.03 0.13 0.47 2.71 .42

15 0.03 0.03 0.13 0.47 2.1 [.42

16 0.03 0.03 0.13 0.47 2.0 7.42

BRE J, kg.cm?

20 0.03 0.03 0.13 0.47 271 7.42

25 0.03 0.03 0.13 0.47 2.71 .42

30 0.03 0.03 0.13 0.47 270 .42

2 35 0.03 0.03 0.13 0.44 2.7 7.42
40 0.03 0.03 0.13 0.44 2.0 .42

50 0.03 0.03 0.13 0.44 257 7.03

60 0.03 0.03 0.13 0.44 257 7.03

70 0.03 0.03 0.13 0.44 2.97 7.03

80 0.03 0.03 0.13 0.44 201 7.03

100 0.03 0.03 0.13 0.44 2.5 7.03

21

BliE¥ / Z/PBR 57 /| INEE R~

ZPBR042-L1 9MEE Profile

10%

zt

b

L] 42

& 35adh

o117

1

10

A A, S

M40 7P

3.9

4 13jé

HiHz A, 82

27

15

_‘____'I

F o B

W4 X0 7P

15

E: UEAERENEINRYT, BARRToRERAEIRTES

ZPBRO042-L2 42 E Profile

128

O 42

24

21

G 35gh
@17

MY T 51

#13j6

3.3

T 852

27

15

79. 5

Sht

M40 7P

15

@136

C142

.:55*

x: DEARAENBEINRY, BARRIIRERAEIRTES

22




#iE3 / ZPBR R5I / IMEE R 5% / ZPBR X7l / 4MNE S R~

ZPBRO060-L1 4MEZE Profile ZPBR090-L1 4MEE Profile
(140 c7 B i L190 B2
5t g5 45 E L1G2
37 7 . P
2 2 ! B 42 N
/\X . / Q \
A7 = ) 1T 1 3 Pz N ko?t
) 0 o HL {
s | s i gﬁhx S,
b 1.5 |__ S *
! T £2 o 10 ] e \‘F
n T
& | I & I {
& SN S e | [
o | i R N 1
| 4 C3F7
S C37 -
20467 407
o ME X 1, 25P Sh?_ wax1.23p
W3 H 0. P 7 N3 X0 &P
N - |
EE 51 |16 fHB T 5221806 $HH e S e s2 PRI
F: UEABHEENEIRS, BARRToRIEEARBILR T EF F: U EAEHEENENRS, BARRToRIEEARBYLRS EF
ZPBRO060-L2 4MiZ[E Profile ZPBR090-L2 4MEZ[E Profile
160 o7 e
5 % 37 . as- =
/:.:_.,ﬁ - 18 5 O 6o
< Pt s > | ->< ' —
| h%) | - D-1 \
A \ a2 - / \ _
L 2\ 1] & g | _ LI \O ,_+ \
\ \\; = - | NPT | 2 8 R 1 N
\_\ .a/ i : "‘_\ 0 0‘ / s ¥ ST
' ' o il =
. _,f/g‘/ 1.5 . \ﬁﬁ-x /\d/ 20 -
4- 4 \%' ! i *ii c2 \fcﬂ 1.5 / | ]—I = S
10 o)
S ! ! - ]
i IR 8 A
2 | | R = .
| Q.63F7
b 4 GACT
0BT
Wi 1, 25D 8 ygwy 2sp
She
M5 X0 &P W5 X0 &P o| (77
= —t 7)) ) \|/
N
| M 51 Le22o o R K EI

$E 5121806 (R 82| p18is

x: UEASHEENEINRY, BARRTIRERBEILRT ES x: DEARAENBEINRY, BARRIIRERAEIRTES

{8} R~F% size {8y R~ size

/PBR-060-L1 70 4-M44x10 <16 o0 37 8 116 23 65 155.5 /PBR-090-L1 a0 4-Mb5x12 <19/<24 70 o0 8 206.5 27.5 80 145
/PBR-060-L2 70 4-M4x10 <14 50 37 8 139 23 65 178.5 /PBR-090-L2 70 4-M4x10 <16 50 37 8 199.5 23 65 122.5
23 24




53 / ZPBR &%l / INE SR~ B KRR &

#53 / ZPBR 271 / IMEE RS

ZPBR115-L1 9MEZE Profile ZPBR142-L1 9MEZE Profile
AL (H) (1142 —
. pe ; oo F, 12
|
% 40 5 o5 |
.I 3 oot
28 = | =
: ]
il BE
5 BB @ il
% l | 3 ______1;__' _____
= | i 4 G3F7
HOIFT 407
1 G407
10k W14 X 2P e Mo X 2P
W1Z221. 5P Wi2>x1. 75P
Rt 51 R WA s2 L s 51 Laaic i s2  L0d0is
F: UEABHEENEIRS, BARRToRIEEARBILR T EF F: U EAEHEENENRS, BARRToRIEEARBYLRS EF
ZPBR115-L2 9MEZE Profile ZPBR142-L2 9MEZE Profile
(1 H
(M
e \ - y e e . 50 it 13
,<>( — — H-“"\._. X}, . L ) L
/®, - \&-\ 3 40 \ . 1i‘ ' N\ |
/./ - "‘-\ | ‘ 5 63
@) )L & e } |
\ / } i 5_; ] ;_ R | | S ——— . — W -1
\ / . | >
N / 28 “ w | =
N 3, / T ) ——
=T : B -
| 459 % o b2 , T 4 a k ] | I
i L]
| 12h%? -
W1 2P W1 2P
M12X1. 75P 10h% w121, 75p T
| K;/ 4 Al L B L WA s Fad0ie)
Mz I, St a2l | I S2 - RS L
T UEAERENENRSY, SARR ST oIRIEEARBIRST ES *: U EAERENENRY, BARR T oRIEEARENR T EF

{8} R~F% size {8y R~ size

/PBR-115-11 145 4-M8x20 <35 110 60 8 266.5 35 130 185 /PBR-142-1 1 200 4-M12x25 <42 114.3 82 8 350 39 178 230

/PBR-115-12 90 4-M5x12 <24 70 20 8 264.5 27.5 80 157.5 /PBR-142-1 2 145 4-M8x20 <35 110 60 8 350 35 130 198.5

25 26



53 / ZPD 5| / #EA B KRR &

#iES / ZPBR 7 / IMEE RS

ZPBR180-L1 4MEE Profile Z P D SERIES

i1go G7 o gyu
103 15 i
6 70
40 2
2 |
20 -
i o
=1 1 "“i"" """""
4 G3F7
$ G467
1615
W20 2, 3P W20 X2 5P
TN
s, 51 T 52 4336
E: UEAERENBIRSY, BARRIREEERBILR T EH
ZPBR180-L2 4MEZE Profile
180 i
0 o
103 15 r @

M EEYE = FUTURE

G 160gh
363
|
|
l
| s
|

2
AD ! E
) =i
3 r L o
- . R : . ® KA EFZ(EFR
= | 1
o | . -
phtrosasbere ® BLENIE:
C3F? e
eur ® HHEIES
® SWX
1Gh%
Wz0 =2 P | W20 2 3P . {EE[E;‘%:%
@ TR ® SHfE B R
WHET 1 | 935)6 T 2 0356 @® LI |g)/)\

1.Extremely low-backlash
F: LEARRENEINRSY, BARRITIREREEBIRTES . g . .
2.Higher torsional rigidity

3.High output torque

@ Rﬂ'ﬁ size 4.High efficiency

5.Low noise

6.Maintenance-free grease lubrication
ZPBR-180-L1 215 4-M12x25 <48 180 82 8 384 35 190 293 7.Small installation space
ZPBR-180-L2 200 4-M12x25 <42 114.3 82 8 417 39 178 249

27 28



#E3E / ZPD 275 / ERES AL #MEZE / ZPD 275 / FRES L BT

{oy ZPD Z ¥ gES%(3E /| ZPD Series Performance Table

{oy ¥ GIEER/5 Helical Tooth with Moment of Inertia

#14% Model B Unit PT# Stage RUELL Ratio ZPD047 ZPDO064 ZPD090 ZPD110 ZPD140 ZPD200 ZPD255
4 19 50 140 290 542 1050 1700
5 22 60 160 330 650 1200 2000
6 20 05 150 310 600 1100 1900
1
7 19 50 140 300 550 1100 1800
8 17 45 120 260 200 1000 1600
10 14 40 100 230 450 900 1500
16 20 55 140 208 342 588 1140
2B B 4B i 20 19 50 140 290 542 1050 1700
Rated output torqueT2N 25 22 60 160 330 650 1200 2000
39 19 50 140 300 550 1100 1800
40 17 45 120 260 500 1000 1600
2
o0 22 60 160 330 650 1200 2000
60 20 55 150 310 600 1100 1900
70 19 o0 140 300 590 1100 1800
80 1 45 120 260 500 1000 1600
100 14 40 100 230 450 900 1500
& (=456 . |
ECTEEtioy S5t TrUET s Nm 1.2 4-100 ={=ENE R H 2B / Triple rated output torque
@Eﬁ)\%ﬁ 1,2 4-100 5000 5000 4000 4000 3000 3000 2000
Rated input speed n,,
= ‘ rpm
: Eﬁx.ﬁj)\%ﬁ 1.2 4-100 10000 10000 8000 8000 6000 6000 4000
Maximum input speed Nyp
1 4-10 <3 <3 <3 <3 <3 <3 <3
B H R arcmin
Precision backlashP1
2 16-100 <b <5 <5 <5 <5 <5 <b
| .
EEWJ 'L&" . Nm/arcmin 1.2 4-100 T 13 31 82 151 450 1023
Torsional rigidity
e N/
ﬁﬁé &7 N 1,2 4-100 780 1530 3250 6700 12000 18500 27000
Allowable radial force F..s
ﬁ\
ﬁﬁ@ [&17] N 1,2 4-100 500 /65 1625 3350 8100 15000 24000
Allowable axial force F,.
Pt
e hrs 1,2 4-100 20000
Sevice life
_ 1 4-10 =297%
R o
Efficienc
¥ 2 16-100 =294%
_ 1 4-10 0.6 1.3 3.7 7.8 14.5 29 48
E=g-o ke
Gross weight
& 2 16-100 0.8 1.5 4.1 9 BIFES S 33 60
FERRE o o o
Working temperature C 1 0 10~ G
78 P o
L ubricating 12 4-100 &A% iEE M AS / Synthetic lubricating grease
iR F R
IP Grade 1,2 4-100 IP65
g Yl - T
Installation direction Le il {ER7312 / In any direction
= 2 _ s
ERE18 (n1=3000rpm, A5k ) dB 1,2 4-100 <60 <63 <65 <68 <70 <73 <75

Noise level (n1=3000rpm,off load)

29

A Model EBEfii Unit T & Stage RIELL Ratio ZPD042 ZPD064 ZPD090 ZPD110 ZPD140 ZPD200 ZPD255
4 0.03 0.14 0.48 2.74 7.94 23.67 o4.37
5 0.03 0.13 0.47 2.1 .42 23.29 53.27
6 0.03 0.13 0.45 2.65 125 22.75 51.72
; 7 0.03 0.13 0.45 2.62 7.14 22.48 00.97
8 0.03 0.13 0.44 2.58 .07 22.59 50.84
10 0.03 0.13 0.44 201 7.04 2251 50.63
16 0.03 0.03 0.13 0.47 2.71 .42 2329
20 0.03 0.03 0.13 0.47 2. 71 .42 23.29

BIRE J, kg.cm?
25 0.03 0.03 0.13 0.47 20l .42 23.29
35 0.03 0.03 0.13 0.44 2.71 .42 23.29
40 0.03 0.03 0.13 0.44 2.71 7.42 23.29
? o0 0.03 0.03 0.13 0.44 2.57 7.03 22.51
60 0.03 0.03 0.13 0.44 2.57 7.03 22.051
70 0.03 0.03 0.13 0.44 2.5 7.03 22.01
80 0.03 0.03 0.13 0.44 200 7.03 2251
100 0.03 0.03 0.13 0.44 2.af 7.03 22.51
30



ZPD-047-L1 4MEE Profile ZPD-064-L1 4MEE Profile
20
19.5 .4 b7
7| L5 15 48 9.9 8 mlsy;
7| 7.7
_;_ o8 Y Foe
: i 2 =1
=
————p— [ I
1= | |
| | % |
EEEE ‘% i~ - o B ozl g [ T 1 SR
i vou v | -
| |
| | : |
/ B f-r 4-N4>10 \fﬁ / =] 06 02 a
4 534 5 ¥ o / Lo
28 A=W TN 150 9408 OBL[H 66X2
-l L i B S A t?ant?/ 02I[® 56X 2
x: LEAEREXNSBIILRST, BMARRToRIEREEBILRT EH x: LLEAEREXNBIILRST, BARRToIRIEREEBILRT ES
ZPD-047-L2 4MEE Profile ZPD-064-L2 4MEE Profile
g88. 3
19. 3 4 =
ey 4 3H7 7 3 13 (48 19.5 4 i,
= 7 o8
d-W3HA S
3 =—_ 3 =)
r |
_ | |
| | -1
-9 9 Hy§s AT 8 3 99 88 Fa- A1 §y5
...__._..“.___i =~ B 1 B { o o
| |
- . I__
/ EﬂT 4 4-HAX10 \"5* / | Cé & &
8- 345 = / '
28 FUFRTES 150 9409 ORH] b6 %2 05
a-4 34 :ﬁ;z,ﬁ RN |50 2409 NE [ 56x2 |
x: PLEAERENBIRYT, WARRToREREBIR T E S x: LEASRENSBIRYT, BAmR T oJREEEBIR T E S

{&y R~ size

ZPD-064-L1 70 4-M4x10 <14/<16 o0 37 8 80.5 23 65

/ZPD-064-1.2 70 4-M4x10 <14/<16 o0 37 8 105.5 23 65

31 32



FEEE / ZPD E% / IMNES RS s / ZPD E% / IMES RS & IR

7 [ = 7 [ n
ZPD-090-L1 4MEE Profile ZPD-110-L1 4MEE Profile
7 o
: oce
0 7 9 8
0] |s 1wl 10 & c3
69 ’ 5
& .,_f,.‘ = b =, 8 = e |
| i Y = _
N I : \_\
=% | \ I ' \
7g || [ ! | , @
- % || 1 ©O O | [ — ’ \
o 8 o 2 & [1zf A i RS S Q \ $ gz |- - 1yy OV )]
ha = %g“’? = o _|l||_ ] I _[_ : ) + :‘;-:qw | ] ! ‘l— \
2 & ® 3 / | hl -4 = (e | k O = R o . & & : O
: - - \ H | /
| ; Ii \ ® ® #/ ' } \ @ @ /
L \ / =z | i £
| : @ .
/ \ - :@‘\ 8, | | o | @
. L : - | \ i
/ > G2 Vs / \\ kﬁ""-n-___ ‘_,--"" !-/ /
o2 ] Cs S
s & - | | S 8455 | 72.5 SEETRTWHRE 150 9409 O£ 11033 - c2 &
FEWETREE | S09409 D&MW P0X3
F: UEABHEENEIRS, BARRToRIEEARBILR T EF F: U EAEHEENENRS, BARRToRIEEARBYLRS EF
7 = ) 7 = =
ZPD-090-L2 4MEE Profile ZPD-110-L2 4MEE Profile
C? .
07 29 B
10| |8 C8 - P
. : cs s
a o _ 5 <4
: Ca
— — -"f |
| . |
[/ I L]
SR g B e s A o & gl 2 & |2 i o i
= o| @ = - [/ | = ey =y 2= ) = =
| £33 3 F 43 2 EEEE § -8 8 8
& & =2 / | e _li & & = W ___.,____JH___—& H 5
) / } ) '
/ 1ol
- K
/ Cs 2 C5
05 ~ 5.5 7.5 2 R TR -
e 1s0940e o8] 90k B ? FTEERTEE 150 9409 O%[F 11033

x: DEARAENBEINRY, BARRIIRERBEILRT EH x: UEASHEENENRY, BARRTIRERBEIRT ES

{8} R~F% size {8y R~ size

R~ C1 C2
/ZPD-090-L1 90 4-MbEx12 <19/<24 70 50 8 110.5 205 80
/ZPD-090-L2 70 4-M4ax10 <16 50 37 8 124 .5 23 65
33

R~ C1 C2
/ZPD-110-L1 145 4-M8x20 <35 110 60 8 145 39 130
ZPD-110-1L2 90 4-M5Ex12 <24 70 50 8 161.5 21D 80

34




g3 / ZPD % / IMNEE R~

g3 / ZPD % / INEE R~ B KRR &

ZPD-140-L1 4MEE Profile ZPD-200-L1 4MEE Profile
= C9
5010
810 fe 15| |15 mle
3 %%? 11-MBX 1T 8122 = Cs ° ]
g : - ‘ 15 E_ w | - = 5
| | / 2 |
|| / ' }
. . / 1 |
o| H ol B & 12¢ [ L P~ D= 41 |
REEEEE e G e o 8 gl 2 g e INEEEE
3 3 | P I O I I O 3 B o 38 I | g g A
/ " \ / S T I I B _____! 2 ¥ =
'i \ © | © /4 i
X v = |
/ i 3 | Q |
/ = b, | ) |
> e R d i
12-4 8. 6 % FEERETHEE 150 2409 oI 143%3 i e - 2 | y-f} & I E{ i L
- 12-4%9 HETR J4BE 150 9109 / O£ 2005
i U EAEHEENENRS, SMARRToRIEEARBYILRS EF F: U EAEHEENENRS, BARRToRIEEARBYLRS EF
ZPD-140-L2 4MEE Profile ZPD-200-L2 4MEE Profile
co
7
50 10
38 10
30 Loyl - oce ) 15| |15
" 11-M8 X 17 (8 4 =
g 6 | & 2 < g it £R
r 7
| ' |
: |
|
RELL vmmin b f LHRARTINI T A
' ' | { vy :
= | W ==
—" : N % ' — i
2 / EJ‘ s | 00— & | - .8
12- &. & & FE@MRATIRE 150 9409 0X:[F] 145%3 — i s RS / — C5
*: PUEASHEENBEYRSY, AR oRIEEARBYLRST EF *: PUEATHEENEYNRSY, BARRToRIEEARBYLRT EF

{8} R~F% size {8y R~ size

R~ C1 eo R~ C1 C2
ZPD-140-1L1 200 4-M12x25 <42 114.3 82 8 175 39 178 /ZPD-200-L1 215 4-M12x25 <48 180 82 8 210 39 190
ZPD-140-12 145 4-M8x20 <35 110 60 8 2045 35 130 /ZPD-200-L2 200 4-M12x25 <42 114.3 82 8 259.5 39 178
35

36



g / ZPD 2 / INEE RS &5 / ZPDR 4l / HEA B KRR &

ZPD-255-L1 9"% Profile ZI D R SERIES
Z9
o
21 - 18 D i
B 11T
% |
1 |
o 2 2 8 8 L4 AL &8 oz
®l e T & =& l I b o B
/ 2 |
/ |
| S 2
1e-q13.5  FZWRTHAMA 150 NU?/ OFL M 238 %3 =
F: UEABHEENEIRS, BARRToRIEEARBILR T EF
ZPD-255-L.2 9MEE Profile
thdy 18
i o0 It 8B4 5 FUTURE
12' =] c8 a e 4 -
*;I"- [ = —< . |
| / i fﬁi _/,f--@-a_\ ﬁ\_ ® KB FE 8]
W% L] | @ ' @ \ A ]
g Hagg [l Ly s JLJ\ I ® SHUHRNIE
% & ¥ o e oL b \ . 9 | / =
| (\@ ®/) ® HILZIES
/ N "“-H.:Q_..ﬂf — ® =
= W T T ’ ® XI2S
=R HAT 150 'M:in" OELMH 238%3 @ .}-EH HE?E?’%%-@&*F
® ZLEZ (/)
® ERIZHFEME
S EASERENEARY, BABRTTRIESEEIR TS 1.Extremely low-backlash

2.Higher torsional rigidity
3.High output torque

@ Rﬂ% size 4 High efficiency

Rt 5.Low noise

5 Cl Cc2 . L
6.Maintenance-free grease lubrication

ZPD-255-11 235 4-M12x25 <55 200 116 8 364.5 40 270 7.Small installation space

ZPD-255-1.2 215 4-M12x25 <48 180 82 8 415 35 315.5 8. Transmission diversity

37 38



H- 4k H- 4k
T Bb T RBg

Wi

|5 / ZPDR &%) /!

W
%
W
— |
e
a3

25 / ZPDR &%) /!

= ] E LN " " n
{sty ZPDR Z %M aE&%(3% /| ZPDR Series Performance Table {or HTIBERS Helical Tooth with Moment of Inertia
##& Model B Unit T # Stage RAiELL Ratio ZPDRO047 ZPDRO064 ZPDR090 ZPDR110 ZPDR140 ZPDR200 M Model BE{iI Unit F#(Stage JHiELL Ratio ZPDRO042 ZPDRO64 ZPDRO090 ZPDR110 ZPDR140 ZPDR200
4 19 50 140 290 5492 1050 4 0.03 0.14 0.48 274 7.54 23.67
5 29 60 160 330 650 1200 5 0.03 0.13 0.47 2.71 7.42 23.29
. 6 20 55 150 310 600 1100 6 0.03 0.13 0.45 2.65 7.25 22 75
1
7 19 o0 140 300 550 1100 7 0.03 0.13 0.45 2.62 7.14 22.48
8 L 45 120 260 500 1000 8 0.03 0.13 0.44 2.58 7.07 22 .59
10 14 40 100 230 450 900 10 0.03 0.13 0.44 2.57 7.04 22 51
16 20 SIS 140 208 342 o88 16 0.03 0.03 0.13 0.47 270 7.42
2 2 W 46 i 20 19 o0 140 290 042 1050 — 20 0.03 0.03 0.13 0.47 271 7.42
Rated output torqueT2N iR Jy kg.cm?
P q 25 22 60 160 330 650 1200 25 0.03 0.03 0.13 0.47 271 7.42
35 19 o0 140 300 550 1100 35 0.03 0.03 0.13 0.44 271 7.4
. 40 17 45 120 260 °00 1000 40 0.03 0.03 0.13 0.44 271 7.42
2
50 = 60 160 330 650 1200 50 0.03 0.03 0.13 0.44 257 7.03
60 20 09 150 310 600 1100 60 0.03 0.03 0.13 0.44 257 7.03
/0 19 o0 140 300 590 100 70 0.03 0.03 0.13 0.44 257 7.03
2l el o 1e0 €60 ouy ey 80 0.03 0.03 0.13 0.44 257 7.03
100 14 40 100 230 450 900
100 0.03 0.03 0.13 0.44 257 7.03
2SHE . .
E EEEICY SI00 TOTAUE T e Nm 1,2 4-100 =fEEERIH S4B / Triple rated output torque
@Eﬁ NFGE 1,2 4-100 5000 5000 4000 4000 3000 3000
Rated input speed n,,
= : rpm
. ﬁxﬁ NFGE 1.2 4-100 10000 10000 8000 8000 6000 6000
Maximum input speed Ng
1 4-10 <5 <5 <5 <5 <5 <5
R arcmin
Precision backlashP1
2 16-100 <7 <7 <7 <7 =7 <7
I )
*.MWJ'E. . Nm/arcmin 19 4-100 7 13 31 82 151 450
Torsional rigidity
SR 4R
ﬁﬁf—"‘%ﬁﬂ N 1:9 4-100 780 1530 3250 6700 12000 18500
Allowable radial force F..z
ﬁ\
ﬁ‘ﬁﬂ?ﬁh N 1,2 4-100 500 765 1625 3350 8100 15000
Allowable axial force F,.
P
ﬁﬁﬁﬁ . hrs 1o 4-100 20000
Sevice life
§ 1 4-10 >95%
R o
Efficiency
2 16-100 >92%
_ 1 4-10 1.1 2.1 5.9 10.5 21.9 50.9
EZR=s ke
Gross weight
2 16-100 1.4 1.9 45 9.8 20.1 45 4
ERRE o ° 0
Working temperature i 1 I A= 00 B
HE T . o
Lubricating 1,2 4-100 & AkiBig HAg / Synthetic lubricating grease
aE 2N
D Grade 1:9 4-100 IP65
T O = .
Installation direction 1 il fER7318 / In any direction
128 (n1=3000rpm, A% )
Noise level (n1=3000rpm.off load) dB 1o 4-100 <63 <65 <67 <70 <72 <75

39 40



#5¥ / ZPDR K3 / SMNE SR

#i8% / ZPDR 2% / IMES RS B R R &

ZPDR-047-L1 9p 2B Profile ZPDR-064-L1 M2 E Profile
105, 5
19.5 4 oF
- 5 []48 v 4 10w
3 ~ i =
\ 3 =
3 335 o 3 858 | T
T / - |
E / — ] i _J__i 42 a
fp M T St 6 5. %2 | l
4 2 T 2k H 150 9409/ ORI 56%2 — WA E 150 9409 O 66 | !
1 8 ER
| ' ___l["'_i__—_] 1:ﬂ|3F?
L’Eﬁ 1 0467
4 3007
F: UEAERENBENRST, BAGRToRFEERBILRT ES F: UEAERENBENRST, BAGRTIRIEEARBILRT ES
ZPDR-047-L2 9ME B Profile ZPDR-064-L2 92 Profile
193 4 N i
18 e s 1.5 .4 o
) & '
3 I \ g—\ ; Tt
% | / \" \
18997 - | | 12 94 1 ———}-
/ | : \Aé:““‘"-u-e- - 5
/ ] -_T 4-N4X 10 \"& / AT :_ '
< T O g
| 844 3 = / N
< s T FEFRTEE 150 2400 05 66x2 o
F=FREIE IS0 9409 0F R 562 I - i o [ | i
| | H = |
w T i
$C3F7
B 8r7 4 0AGT
4 30067
F: U EASHENSBEIRST, BARRTIREEEBIRS EH x: U EASHENSBENRYT, BARRTIREEABIRT EH

{&y R~ size

/PDR-064-L1 70 4-M4x10 <14/<16 10 37 8 127.5 23 65 116

ZPDR-064-L2 70 4-M4x10 <14/<16 50 37 8 152.5 23 65 116

41 42



5% / ZPDR EA / INES R~ PiE¥ / ZPDR KA / INES R~ B KRR &

ZPDR-090-L1 Yr 2B Profile ZPDR-110-L1 YpM 2 E Profile
c7
v .7 — o7 mles
HRE 10| |10
@ uﬁ- fa ;_ |
i | |
| ' |
=~ | | N |
ke 12 ’ | \ / Qo \ -~ e | P 12 '
o B &l = 5 g | | 9 o 3 55 _I
RRRERD AR S\ SR 1993
/ ; | \\ < 7 f/ & 2
/ i @ \:@/\"x fpi/ / | |
/ f « % B iR
\&, i : g-455 | 77.5 HUTRTRS 150 9409 0AIE 110X3 E—
=855 ARZMRTHF 1509409 08UM 203 ﬂ | | ) 8 | I
1 . 1 I i i 7
8 N | 4 CIF7
4 G3FT 4 C4GT
¢ 0407
i UEABREXNSBENRSY, BARRTIRIEEABYRT EF E: UEAERENBIRSY, BARRITIIREEARBILR T EH
ZPDR-090-L2 M2 B Profile ZPDR-110-L2 92 B Profile
07
C7
30 7 29 3
5 Tk ol a7 5 I 10| |10
= P s ml s _ 11-M56¢13. 5 :
~ ,_(3_ & A , * ,,,..“? b & .
. | \ DN\ P - : | o | /5 . &> |
} v 5 g s -g ;{_.; ¢ | ‘. " o o I |
S / . b \ 'ﬁ . -r;*’ E
1 [ ” W\ N8 -
/ | \Numle /
T ~ I -
/ .?H-IT : —E "“*u-_____ea_..--' ﬂﬂ'-"; | / :_ I | ]
el = u o & | !
_ % 8 B3 8455 | 275 SHEFRTHE 150 9409 QA 1103 % Ll
920 MR HAEE 1500409 0% [F 2033 = 2 o = 8 _“F!“j!:__
4 0467
F: UEABRRENEIRSY, BARRTIREEABILRST ES F: UEABERERENEBENIRY, BARRToRIEEABILRSTES

{8} R~F% size {8y R~ size

/ZPDR-090-L1 a0 4-Mb5x12 <19/<24 70 o0 8 170.5 27.5 80 153.5 /PDR-110-L1 145 4-M8x20 <35 110 60 8 219 35 130 184

/ZPDR-090-L2 70 4-M4x10 <16 50 37 8 160 23 65 127.5 /ZPDR-110-L2 90 4-Mb5x12 <24 70 20 8 214 27.5 80 162

43 44



F41i53¥ / ZPDR %71 / INES R

53 / ZPDR 5% / INES R~ B KRR &

ZPDR-140-L1 9ME B Profile ZPDR-200-L1 42 E Profile
€9
= 50 10
. ""'f';’?f 35151’512 15] |15 O 6o
,_‘, _,,,..e_. 11-M8 % 17 7 = i L
. I ..... T B 4\ |Z
QA RSARBEEEE EEFEE R R AR
| | \ ' o o ° 5|3 i; - EEEEES
: R g , “’7; g U o=
5 ~€ &’ A =€J o i
"o — ! ® | =) —t— | i |
12-ditr fa % =W THEE 150 9408 0R[F 1453 i E ﬂ*”' / gjl [ —4——1
8 { 12-4:9 hEW R kEE 150 9409 / 0L 200%5 i i
i " __—_—_‘I‘_—_ _—_ilL::__ ) o | i
©loHrt———- s e B -
b 03F7 1 CIF7
4 €487
4 GACT
A LEAERENBIRYT, BARRToRIERABIRT ES E: LEANFEHRENBIRST, BARRToRERKBIRYT E S
ZPDR-140-L2 9ME B Profile ZPDR-200-L2 42 E Profile
- 09
38 10 =
15| |12 mie 15 |15
11-M8 X 17 " = 5 5> 8 =0
el @l & 42 O | \_ ml B o F g e 4\
i | _I 4/17 — | ﬁi_|
[ & — - T
g o | | . r
SERMARTE 150 9409 Of:[#] 1453 = 2 _.ﬂ.___“;,_T'_._._.._ F=WRTEE IS0 9409 / 05 [ zmxl*ﬁ 8 o _:::‘:u_:j::____
‘ o
b CAGT 1 6467
X UEAEBRNBIRYT, BARRToREREBIRT E x: UEAERENBIRYT, BARRTOREREBIRT EH

{8} R~F% size {8y R~ size

/PDR-140-L1 200 4-M12x25 <42 114.3 82 8 255 39 178 247 /PDR-200-L1 215 4-M12x25 <48 180 82 8 337 35 190 317
/PDR-140-L2 145 4-M8x20 <35 110 60 8 27/5.5 35 130 198.5 /ZPDR-200-L2 200 4-M12x25 <42 114.3 82 8 340 39 178 275.5
45

46



5% / ZPF K71 / A

LPF o

Mk / ZPF 271 /7

s

anp
RYAY
W
%

{oy ZPF R EgESEI3E | ZPF Series Performance Table

g 5 |J #1E Model T &Y Stage IR Eb Ratio ZPF060 ZPF090 ZPF120
4
S 39 130 208
4 50 140 290
5] 60 160 330
1 6 bb 150 310
7 o0 140 300
8 45 120 260
10 40 100 230
12 515 160 290
15 o5 140 208
e B 4 16 bb 140 208
Nm
Rated output torqueT2N 20 50 140 290
25 60 160 330
30 55 150 310
2 515 50 140 300
40 45 120 260
50 60 160 330
60 515 150 310
70 50 140 300
80 45 120 260
100 40 100 230
& (=445 . .
T R Nm 1.2 3-100 ==& E B S1%E / Triple rated output torque
ﬁ.ﬁﬁ)\%ﬁ 1,2 3-100 5000 4000 4000
Rated input speed n;y
- . rpm
AR 1,2 3-100 10000 8000 8000
Maximum input speed 1N,z
1 3-10 <b <O <b
e
= 26 =t EEERE ;
IE ﬁbtl:"—" ;'f—:'_\. FUTURE Precision backlashP1 sty
2 12-100 <8 <8 <8
| .
fH%ﬁJ{E . Nm/arcmin 1,2 3-100 T 14 25
Torsional rigidity
0 =y s 4
® {K[EI= ] B¥FEME] N 1,2 3-100 1530 3250 6700
N Allowable radial force F.z
®: %Ej: §i¢$ﬁﬂ N 1,2 3-100 765 1625 3350
@ _53,_& z Allowable axial force F.. ’
= EAE®
C hrs 1,2 3-100 20000
® 'fEE ﬂ;’,’g’é‘ Sevice life
~ . 1 3-10 >97%
® Ti(EHE n s u
L Efficiency °
® HAEIHIE B4R 2 12-100 294%
1 3-10 1.3 < 9 4 .8
backlash &
1.Low backlas . kg
Gross weight
2 —Iigh torque 2 12-100 1.5 4.1 9
3.High efficiency fERRE °C 1,2 3-100 -10° C~90° C
I _ Working temperature
LOW noise =
B By installedion Lut;fjﬁn . 1,2 3-100 S ALEBMAE / Synthetic lubricating grease
. . B
6.Maintenance-free grease lubrication F?gﬁi 1,2 3-100 IP65
RI& [ - s
Installation direction 1.2 SRl fER73[E / In any direction
1$Z{E (n1=3000rpm, TR %E )
Noise level (n1=3000rpm,off load) an 1,2 3-100 <63 <65 <68

47 48



A} AY
Wi
o

A5 / 7PF X5l / 1E8 g3 / 7PF K¥ / INEE R~ B RE S

=z = ~ . = =
& #EIBE RS Helical Tooth with Moment of Inertia . |
ZPF-060-L1 4}MEZE Profile
Mg Model EE{i Unit T& Stage EIELEL Ratio ZPF060 ZPF090 ZPF120
[ &0 07 []ce
3 0.16 0.61 3.25
37 T £a ) o
4 0.14 0.48 2.74 1
5 0.13 0.47 271 = //@\/ \/@\
2 25
1 6 0.13 0.45 2.65 ii [ © O \\
7 0.13 0.45 2,62 & o i R [ NoV ) |
2 ® I 2 = || \_\//O I
8 0.13 0.44 2 58 P \ /
10 0.13 0.44 2 57 | | -
= -T2 -1
12 0.03 0.13 0.47 1.5 N e X S
15 0.03 0.13 0.47 5 o2 \ﬁ’c;
CS
16 0.03 0.13 0.47
EMRE J, kg.cm?
20 0.03 0.13 0.47
25 0.03 0.13 0.47 M5 0. 8P = M5 X 0. 8P
30 0.03 0.13 0.47 o [
2 35 0.03 0.13 0.44
40 0.03 0.13 0.44 AL ST At sz L8
50 0.03 0.13 0.44
60 0.03 0.13 0.44 F: DLEABERENSBENRST, BARRTIREEEBYLR T EH
70 0.03 0.13 0.44
80 0.03 0.13 0.44
7 = .
100 0.03 0.13 0.44 ZPF-060-L2 M B Profile
C]é40 C7 0%
37 7 ce 5 k]
=
2 25 ll
Il
» ——————1 T
L T | B O ™ I~
s ® ] =
I
12 !
|
15
? Gty
Ga
ah%
M3 <0 8P MS 0, 8P
C: __KI./_.
E T 81 EL T, §2 B 16]b

x: UEAERENSENRYT, BARRTIRERBBILRT ES

&y R~ size

R~ C1 C2
ZPF-060-L1 70 4-M4x10 <14/<16 50 37 8 116 29 65
ZPF-060-L2 70 4-M4ax10 <14/<16 50 37 8 139 23 65

49 50



PlE / ZPF &% / IMNEE R~ PlE3 / Z/PF &5 / IMNEE R~ B RE S

ZPF-090-L1 4}Mi2E Profile ZPF-120-L1 4}Mi2E Profile
50 c7 e 67 69
Py 45 48 8 b8 = 5 - o 0g
] :
£ Lt |I \ 5 40 |
% i I ,r""""“"f:i e \}O JF 5 I |
58 = i+ BE - ¥ TTE S
A ! T s UY) | 19 = 1133
20 I} \ O O 1 - | :
. : | !
i \\@(H X, 2 5
2 S=SR = s
- Cs c2 &t} 5 ”
05 12
cs
ME 3 1. 25P h%  max1. 25p
W23 1. TSP 1OhY w21 75p
) ) E L% e _
@/% \ @ R\
iRt 51 LRES it 52 LR R St S35 i S2 B30
i LEAERENENRS, BARR T oRIEEEREN R EH i D EAERENENRS, BARRToREEKRBEYL RS EH
ZPF-090-L2 4}Mi2 & Profile ZPF-120-L2 4}Mi2 B Profile
C7
o o 15
; - . . &5 12 3
S 4 : \ # ey
_yer i e ) - C8 ‘<>( /‘.,,.f ""‘"-_“"'--h_xt‘ Xy 0a
B TNX g1 1T TN\R |
/ | '\‘Hh 2 32 — / \'\‘
/ \ | N~ / - \ W “*‘—“——‘_1}“L—r- [~
L ) L & e = - ;{__*a%[% I [ Itt.\ L 9 s - s N
| v’ - g = M I (4 '\ S | FH 7 1 O -
\_1 - .'/ 1: \ | / | II
\ ! / 510 — \.1 | ./r 20
\:@i“ - -}8{/ | cé \| _./®/ __[ﬂ_ﬁ__
S —— 2 CS | s S [ 2 G5
4-p & & \i,% 1) 4-49 v
= 12
M& 1. 25P oh? a1 25p
i ; M123% 1. 75P 19h%  wiaxq. 75p
¥ b (e 1@
GhFsTE S 922)6 GhFiat 82 D22)6 | |
R St e W s2 L8
*: UEAERENENRSY, BARRTIRIEEABIRT ES *: UEAERENENRSY, BARRTIRIEEABEIRTES

{8} R~F% size {8y R~ size

R~ C1 eo R~ C1 C2
ZPF-090-L1 90 4-MbEx12 <19/<24 70 50 8 148 .5 205 80 ZPF-120-L1 145 4-M8x20 <35 110 60 8 198.5 39 130
ZPF-090-L2 70 4-M4ax10 <16 50 37 8 156.5 23 65 ZPF-120-L2 90 4-MbEx12 <24 70 50 8 2125 21D 80

51 52



S / ZPFR £ % / HEAR U5 / ZPFR &%) /1

pa

mp
Yy
Wi
%
I
=T
=
a3

Z P F R {oy ZPFR 25 EZS 3K /| ZPFR Series Performance Table
SERIES

g 5 |J #1E Model T &Y Stage IR L Ratio ZPFRO0O60 ZPFRO0O90 ZPFR120
4
S 39 130 208
4 50 140 290
5] 60 160 330
1 6 bb 150 310
7 o0 140 300
8 45 120 260
10 40 100 230
12 515 160 290
15 o5 140 208
e B 4 - 16 bb 140 208
Rated output torqueT2N 20 50 140 290
25 60 160 330
30 55 150 310
2 515 50 140 300
40 45 120 260
50 60 160 330
60 515 150 310
70 50 140 300
80 45 120 260
100 40 100 230
& (=445 . .
T R Nm 1.2 3-100 ==& E B S1%E / Triple rated output torque
ﬁﬂ_ﬁﬁ])\iﬁﬁ 1,2 3-100 5000 4000 4000
Rated input speed n;y
- . rpm
RARINKIR 1,2 3-100 10000 8000 8000
Maximum input speed 1N,z
1 3-10 <7 </ </
i 86§ R :
IE ﬁb!l:"—"f'f_i FUTURE Precision backlashP1 sty
2 12-100 <9 <9 <9
| .
fH%ﬁJ{E . Nm/arcmin 1,2 3-100 T 14 25
Torsional rigidity
0 =y s 4
® {K[EI= ] B¥FEME] N 1,2 3-100 1530 3250 6700
_ Allowable radial force F.z
® HiEX BIFHmE 7
) N 1,2 3-100 765 1625 3350
@ _53,_& z Allowable axial force F..
= EAE®
C hrs 1,2 3-100 20000
® 'fEE“é':r:‘é% Sevice life
3 - 1 3-10 295%
® TE(EHE = % u
. — Efficiency
® HEiE B R4 2 12-100 292%
® EIBZHFMN 1 3-10 2.1 5.4
55 ke
Gross weight
1.Small backlash : 2 12-1390 24 0.
- ~B
2.High torque fERRE °C 1,2 3-100 -10° C~90° C
_ i Working temperature
3.High efficiency ﬂ?i%. 1,2 3-100 SR E B HAS / Synthetic lubricating grease
/l | oW noise Lubricating ’
. . B
5.Easy Installation E}gﬁi 1,2 3-100 IP65
6.Maintenance-free grease lubrication 223
o | & _ Installjaztﬁf d[?-nj'ection 1,2 3-100 {£=7 @ / In any direction
7. Transmission diversity - =5
1E &8 (n1=3000rpm, LR %, )
Noise level (n1=3000rpm,off load) an 1,2 3-100 <65 <67 =70

53 54



Y

P
QYAY
Wi
\ef
s

53 / ZPFR %751 /| 53 / ZPFR A /| IMES RN B KRR &

— = ~ = ] -
{o} H#ETNIEEFE Helical Tooth with Moment of Inertia - |
ZPFR-060-L1 9ME£E Profile
Mg Model BE{I Unit TF¥ Stage REL Ratio ZPFRO60 ZPFR090 ZPFR120 ZPFR142
] &0 C ce
3 0.16 0.61 3.25 9.21 i ]
4 0.14 0.48 274 7.54
5 0.13 0.47 271 7.42 A
6 0.13 0.45 2.65 7.25 " .
7 0.13 0.45 2.62 7.14 : =
iz
8 0.13 0.44 2.58 7.07 o
1.5
10 0.13 0.44 257 7.04 _
| L
12 0.03 0.13 0.47 271 .
15 0.03 0.13 0.47 2Tl 8 ]
= T - 1
16 0.03 0.13 0.47 271 5 | |
2B E J, kg.cm? :
20 0.03 0.13 0.47 271 - LUK
5 C467
25 0.03 0.13 0.47 271
=h%
30 0.03 0.13 0.47 271 - ABxLE #>20.8P
35 0.03 0.13 0.44 271 —@{w - (€
\V NS/
40 0.03 0.13 0.44 271 BER S [916i6 B84 S) | 91658
50 0.03 0.13 0.44 2.57
680 0.03 0.13 0.44 2.57 ¥ LEAERENBENRS, BARRS oRiEEERBILR EF
70 0.03 0.13 0.44 2.57
80 0.03 0.13 0.44 257
= -
100 0.03 0.13 0.44 257 ZPFR-060-L2 9MEZE Profile
[1&0 c7 Cee
37 ]
|
|
h \
g - : ) R S A
iz
y 5 | .
.l I~
| I
| I
I
i I
P | |
o | |
bl o I—-.— -hl— i
5 |
|
B L30T
0467
She
o 1 W= >0 gp
@E@{_ ) _Lly/"
A S1 P16j6 w5, S7 P18jé

55

x: UEAERENSENRYT, BARRTIRERBBILRT ES

&y R~ size

/PFR-060-L1

70

4-M44x10

<14/<16

o0

37

155

23

65

183.5

/PFR-060-L2

70

4-M4x10

<14/<16

50

37

i W

23

65

163

56




PiE¥ / /PFR 2% / INESE R~ BliE¥ / /PFR 2% / IMNESE R~ B RE S

ZPFR-090-L1 %M B Profile ZPFR-120-L1 9MIZE Profile
[1%0 C7 5 c7 Ccs
G & & B &5 12 £l
S — | %
ﬁg{ \ 2 32 40
/ | \ |
WA 2 S
\ | ’ f'f 20 = " il
\ | /] =
\?@\IM — — E(/ 2 :
4-36. \ii;-a 1 i_—I__i 2 L
8 ” _::_‘i—f:r?f P 3 |
o I |
$ 3T DEITT
D C4r7 1 LAGT
AL e T Waxi. 2se 121 75P 00  wiax1, 7P
ke 02206 ki 52 1226 Az S1 D526 iz S2 p32j8
E: UEAERENBIRSY, BARRIREEERBILR T EH F: DLEABERENENRST, BARRT oREEERBIRT E
ZPFR-090-L2 4MZE Profile ZPFR-120-L2 4MI2E Profile
diié c7
[J%0 o7 .
&3 12 &
48 8 N [
Ay Pk o
: 40 | .
2 32 \
| = 28 | -
20 |
| 1
T 2 Bl
10 q B I = y _-_—;}"_;!'L:ZF_“__
ur_-ﬁf-'_?' D CArT
40407
M3 X 1. 25P 6h%  wgx1.2sp
| W21, 75P 190 waxq, 7sp
| e
3l s DIZjd Al a2 N2Ljs 1326 D326
A St A S2
F: U EASHENSBEIRST, BARRTIREEEBIRS EH x: U EASHENSBENRYT, BARRTIREEABIRT EH

{8} R~F% size {8y R~ size

/ZPFR-090-L1 a0 4-Mb5x12 <19/<24 70 o0 8 201 27.5 80 147 ZPFR=120-11 145 4-M8x20 <35 110 60 8 270 35 130 183.5

/PFR-090-L2 70 4-M4x10 <16 50 37 8 196 23 65 125 /PFR-120-L2 90 4-Mb5x12 <24 70 20 8 264.5 27.5 80 163

57 58



F

A5 / ZPE %1 / A S5 / ZPE K%l /!

mp
o
WP
%
I
=1
=
a3

{oy ZPE Z5MgES#3E | ZPE Series Performance Table

LPE o

= 5'] #14% Model T # Stage RIE tE Ratio ZPE060 ZPE090 ZPE120
4
S 39 130 208
4 50 140 290
5 60 160 330
1 6 bb 150 310
7 o0 140 300
8 45 120 260
10 40 100 230
12 bb 160 290
15 o5 140 208
e B 4 16 bb 140 208
Nm
Rated output torqueT2N 20 50 140 290
25 60 160 330
30 5O 150 310
2 515 50 140 300
40 45 120 260
50 60 160 330
60 09 150 310
70 50 140 300
80 45 120 260
100 40 100 230
& 24156 . .
T R Nm 1.2 3-100 ==& E B S1%E / Triple rated output torque
@Eﬁ)\%ﬁ 1,2 3-100 5000 4000 4000
Rated input speed n;y
— . pm
RARINKIR 1,2 3-100 10000 8000 8000
Maximum input speed 1N,z
1 3-10 <b <O <b
4 4645 R FUTURE mEEm -
AETT /m Precision backlashP1
2 12-100 <8 <8 <8
| .
*.HEWE. . Nm/arcmin 1,2 3-100 T 14 25
Torsional rigidity
0 =y s 4
® {K[EI= ] B¥FEME] N 1,2 3-100 1530 3250 6700
N Allowable radial force F.z
® HAEX SV 7] N 1.2 3-100 765 1625 3350
® =3 z Allowable axial force F.. ’
) RS
C hrs 1,2 3-100 20000
® 'fEE“.?T’é :é: Sevice life
3 N 1 3-10 297 %
® TE{EHE n s u
L Efficiency ’
® i fEE B R4 2 12-100 294%
1 3-10 1.3 9 4 7.8
1.Small backlash 58 ke
_ Gross weight
2.High torque 2 12-100 1.5 4.1 9
3.High efficienc N=
& Y _{Eﬁ i °C 1,2 3-100 -10° C~90° C
4 1 oW noise Working temperature
. . ﬂ‘ﬂi% P = T =1 = . : -
5.Easy installation Lubricating 1,2 3-100 ShLEE M AS / Synthetic lubricating grease
- - - 2
6.Maintenance-free grease lubrication Fdr <5 4% 12 3-100 IPEE
IP Grade
REF - o
Installation direction 1.2 SRl fER73[E / In any direction
1£Z{E (n1=3000rpm, TR %E )
Noise level (n1=3000rpm,off load) 9B 1,2 3-100 <63 <65 <68

59 60



S / ZPE X5l /It

& ®aiR

>

AYAY

W

X
A

= &5 Helical Tooth with Moment of Inertia

Mg Model EE{if Unit T3& Stage IEELL Ratio ZPEO060 ZPEO090 ZPE120
3 0.16 0.61 325
4 0.14 0.48 2.74
5 0.13 0.47 2.71
1 6 0.13 0.45 2.65
i 018 0.45 2.62
8 0.13 0.44 2.58
10 0.13 0.44 2.9/
12 0.03 0.13 0.47
15 0.03 0.13 0.47
T - 16 0.03 0.13 0.47
20 0.03 0.13 0.47
25 0.03 0.13 0.47
30 0.03 0.13 0.47
2 35 0.03 0:13 0.44
40 0.03 0.13 0.44
o0 0.03 0.13 0.44
60 0.03 0.13 0.44
70 0.03 0.13 0.44
80 0.03 0.13 0.44
100 0.03 0.13 0.44
61

¥ / /PE KA/ INESR

ZPE-060-L1 9MEZE Profile

C7

CI1C%

36 €8 - 56,
_fféw“ Ko<
_ | ‘x.\ — o \Q
4 % B 25 |I / \
\ . 1 © \O \
N PANS I I S = - V)
== - o/l |
' / 12 li INE ) /j
R E = NI 7
I 7 I I |
M5 10 : s . Eo c2 &g
5h?
 Msxo.ge M50, 8P
WA, 81 [eis WAl s2 |aleie
E: LEANFEHRENBIRST, BARRToRERKBIRYT E S
ZPE-060-L2 9MEZE Profile
C7 e?
36 cs ey 25
fféH ! e '
- TR . - ¢ - B
b \ 2 25 Il / \
\ L | \O \
_ PR = L = R\tell] %
j S I Z 7 . __Ii 4 o \ \ O I
' / 12 | L © O //
\\‘““HH_E)__J""” E N \'“»1.5_,_*___ X /
MS 310 ¥ 1 Lo 47 \@
&, 5 65
5h9
WS5X0. 8F M50, 8P
< __KI./__
AT ST WALt 82 |alels

x: UEAERENSENRYT, BARRTIRERBBILRT ES

&y R~ size

R~ C1 C2
ZPE-060-L1 70 4-M4x10 <14/<16 50 37 8 116 29 65
/PE-060-L2 70 4-M4ax10 <14/<16 50 37 8 139 23 65

62




Big3 / ZPE K7 / ANES RS g3 / ZPE R / ANES RS B KRR &

ZPE-090-L1 4MEE Profile ZPE-120-L1 4MEE Profile
67 me
o7
o 70 o8
+ = v = b [
i 3% I |
1 o 2 . : Bl e o S
o & & j IR T s Y ' T 83
- - 8y N 1
T :
J} 28 |
20 |
Z
1.5 G 4-M8 5 16 o Cé
8.5 05 C5
M8 1. 25P Sh? MEx1. 25P
o W12 51, 75P 10hY  py2w¢1 75P
AL 81 REEIG fa ALt 82 sl \;
LR, S1 iz S2 Lo
i U EAEHEENENRS, SMARRToRIEEARBYILRS EF i LEABRENBENRSY, BARRSToIRIEEARBY R EF
ZPE-090-L2 4MEE Profile ZPE-120-L2 4MEE Profile
C7
Cr 70 e~
46 [1ce 5
C8 " - C8
2 32 — 5 40 _l=i
]
I N
-0 S s P P & Eﬂ & 1) _“i __E.l %
s 4 i g 198 = T
= A _ = =+ |
| 4
20 'l_ 25 -
L8
06 ' C5
5 5 2
1 = 4-M3 318
M& 12 8.5 17
Ma % 1. 25P ShY_ a1 25p
@ u-., M1231. 75P 19h% 331, 75P
\. i L)
GhFi3Y S B2EI8 bhFsat 82 v
2zl St L BI2J0 thZ 3t S2 326
*: PUEASHEENBEYRSY, AR oRIEEARBYLRST EF *: U EABRENENRY, AR oRIEEABIRST EH

{8} R~F% size {8y R~ size

R~ C1 c2 R~ C1 (3]
ZPE-090-L1 90 4-MbEx12 <19/<24 70 50 8 148 .5 205 80 ZPE-120-L1 145 4-M8x20 <35 110 60 8 198.5 39 130
ZPE-090-L2 70 4-M4x10 <16 50 37 8 156.5 23 65 /PE-120-L2 90 4-MbEx12 <24 70 50 8 212.5 21D 80

63 64



A 5% / ZPER £ %1 / %8

o
Wb
"ﬂ-\}é\&l_
W
— |
e
)

25 / ZPER R 5| / A

{o} ZPER Z514BES#(3E /| ZPER Series Performance Table

LPER

? 5 |J #1E Model B{j Unit T& Stage IR Eb Ratio ZPEROGO ZPERO90 ZPER120
4
S 39 130 208
4 50 140 290
5 60 160 330
1 6 bb 150 310
7 o0 140 300
8 45 120 260
10 40 100 230
12 bb 160 290
15 o5 140 208
e B 4 16 bb 140 208
Nm
Rated output torqueT2N 20 50 140 290
25 60 160 330
30 5O 150 310
2 515 50 140 300
40 45 120 260
50 60 160 330
60 09 150 310
70 50 140 300
80 45 120 260
100 40 100 230
& 24056 . .
T R Nm 1.2 3-100 ==& E B S1%E / Triple rated output torque
@Eﬁ)\%ﬁ 1,2 3-100 5000 4000 4000
Rated input speed n;y
— ‘ rpm
RARINKIR 1,2 3-100 10000 8000 8000
Maximum input speed 1N,z
1 3-10 <7 </ </
4 4645 R FUTURE e -
AETT /m Precision backlashP1
2 12-100 <9 <9 <9
| .
fH%IﬁJ{E‘ . Nm/arcmin 1,2 3-100 T 14 25
Torsional rigidity
0 = s 4
® {K[EI= ] B¥FEME] N 1,2 3-100 1530 3250 6700
N Allowable radial force F.z
®: %Ej: %“-i?%[ﬁljj N 1,2 3-100 765 1625 3350
@ _é._;,_& z Allowable axial force F.. ’
=) > —
e hrs 1,2 3-100 20000
® 'fEE“.?T’é :E: Sevice life
3 - 1 3-10 295%
® ?E%E.xa W =R . ’
L Efficiency ’
® i fEE B R4 2 12-100 292%
® EEIZHFE 1 3-10 2.1 5.4 115
55 kg
Gross weight
1.Small backlash 2 12-1390 24 0. 2.0
- ~B
2.High torque fERRE °C 1,2 3-100 -10° C~90° C
h eff Working temperature
3.High efficiency 37
P T—— Lugﬁjt;iin . 1,2 3-100 S RE 8 HAS / Synthetic lubricating grease
. . “
5.Easy Installation Fg*gfﬁ 1,2 3-100 IP65
6.Maintenance-free grease lubrication 223
& - ﬁﬁﬁ d@ ’ 1,2 3-100 f£&73[@ / In any direction
7. Transmission diversity nstafiation direction
1£Z{E (n1=3000rpm, TR %E )
Noise level (n1=3000rpm,off load) 9B 1,2 3-100 <65 <67 =70

65 66



m}
aca
Wi
‘l)d‘_,—- ,
S

53 / ZPER X5l / 21638 / ZPER E% / INE SR~ B KRR &

= = ~ . = =
oy HEFBE 5 Helical Tooth with Moment of Inertia - |
ZPER-060-L1 4MEE Profile
A& Model EBE{i Unit T9# Stage RELL Ratio ZPERO060 ZPERO090 ZPER120
Ccy LICe
3 0.16 0.61 3.25 .
4 0.14 0.48 2.74 |
O
5 0.13 0.47 271 /- | 3 -y
/' .
1 6 0.13 0.45 2.65 | _ éé 1
7 0.13 0.45 2.62 \ I ==
\ ' / 12
8 0.13 0.44 2.58 S L AOA | o
10 0.13 0.44 257 - X 1 |
M5 10 s ——— c2 &
12 0.03 0.13 0.47 a ]
W ] |
15 0.03 0.13 0.47 * R
16 0.03 0.13 0.47 o 1l | '
ERIRE Jq Kg.cm? D C3T7
20 0.03 0.13 0.47 e
25 0.03 0.13 0.47
30 0.03 0.13 0.47 0. 5P T wexo s
/]
2 35 0.03 0.13 0.44 *Q§§§T* 2 (@)
N -
40 0.03 0.13 0.44 pom | PR
50 0.03 0.13 0.44
60 0.03 0.13 0.44 E: LEAERENBIRYT, BARRTORIERABIRT ES
70 0.03 0.13 0.44
80 0.03 0.13 0.44
7= '
100 0.03 0.13 0.44 ZPER-060-L2 M B Profile
C7 m
36 & %
— ' — = .
# ,} B | -4 Bt
i \ y 25 / \
/ \ a "x\\ | Q —E\\O \
_ ol-2 2 = i _ VSR U (AU T O 4
L R === = _ | YIIIE
N | o NI -

C3

Ca

Cé

3h%
W3 X 0. &P W3 >0 &P

18

WA 51 [pieis WE® 52 |p1sis

x: UEAERENSENRYT, BARRTIRERBBILRT ES

&y R~ size

67

/PER-060-L1

70

4-M44x10

<14/<16

o0

37

8 155

23

65

111

/PER-060-L2

70

4-M4x10

<14/<16

50

37

8 i W

23

65

i B )

68




Fi&E3 / ZPER A / AMEE R~ B RR B

5% / Z/PER HJF /| AINEE R~

7 = . 7 = .
ZPER-090-L1 M B Profile ZPER-120-L1 M2 B Profile
LY C7 Gy
e
t 46 r 40 70
E |
2 32 \ . - \
S I B 5§ e —]— — ' ' _§ %iﬁ _ B 1| [ —— AP S |
20 o 28 2
- T : e
8.3 | i kil 17 L
I ! I 8 R
8 Bl 2 L
. R | E e R .
] I A I
mc;r? D CI3
$C4r7 $ C4GT
Mt b 3 W12 1. T3P 1008 oy 73p
! @/— RN
Wi 81 2226 W E 52 Q326 s 1 R R S2 D326
E: 9% R <, WABRTE -~ i 9% R <+, WABRTE -~
*: DLEARHEENENRSY, BARRSToREEAREN R EH F . L EASREENENRS, BARR S oEEEARBY R EH
7 = . 7 [ .
ZPER-090-L2 M2 Profile ZPER-120-L2 M2 B Profile
67
o7
46 ' (09 - o g
A o~ o
// \\ 2 1 - ffgﬁﬁ\ |
/ \ . | Vs \ 5 40
AEEZNAMPARE P = TR S / A\ Ty
\ | . : I . uc'._:. I T _ o U
\ I ) | \ /
d = | =, ==
MG 12 8.5 8 BE & 5 i i ! i
.:',:{t P 4-ME = 16 - o . R
o = = _::F%: —
203F; S ]
i 0407 M
4 CAF7
MG 1. 25P Sh?_ g1, 25P W12 1. TSP 10h% w121 7sp
s s Lo dwd s Lo i 51 e Wi s e

x: UEASHEENEINRY, BARRTIRERBEILRT ES x: DEARAENBEINRY, BARRIIRERAEIRTES

{8} R~F% size {8y R~ size

130 183.5

80 147 /ZPER-120-L1 145 4-M8x20 <35 110 60 8 270 35

/ZPER-090-L1 a0 4-Mb5x12 <19/<24 70 o0 8 201 27.5

80 163

65 125 /PER-120-L2 90 4-Mb5x12 <24 70 20 8 264.5 27.5

ZPER-090-L2 70 4-M4x10 <16 50 37 8 196 23

69 70



BetE R Assembly Guide in B 0 Ks 0 N

=t 7%
|§ ) { E il
B14 BB HEXEY
,. e\

Straig
Series

BN

]l

s B ‘ HILA

e / =

ht teeth

- b R R BT R R RS ST
o B E AN L LTS o 2 S LA 25 2 B N R R A ST 2 B R R R T

;;BJ R 73
ggR G —— 79
5 MEFFSERIRL (IREH I NTF RN EREERRE, posilissmansi oyl iistisiesi .
SAEETERE A L SE R SRRy SRt SR EBTE B R A L6 IS BRI S s AT . ;ED R R R 85
;53 N 89
;; S 93
;;R o e e 2, 99
;;3 S 105
;5 SO 109
o o ;’ER L 115
LES series 121

=7













BHi53 / Z/BR &%l / # iR

LBR e

25

M gEYE = FUTURE

® TLRERNE

@ HNE=EECFIRAV A,
® SHEEIDiE R4

® ek 5 [E[E Mo

® HHMEXSH

@ BHES

® SHHENIM

® ERIZ

1.For any mounting position

ARt

2.Individual adaptation of the input flange to the motor
3.Lifetime lubrication for maintenance-free operation
4 Equidirectional rotation

5.Wide range of output shaft designs

6.Precise gearing

7 .Higher torsional rigidity

8.Transmission diversity

79

BEiE3 / Z7BR R4l /!

{&y ZBR ZJH 8= #3E /| ZBR Series Performance Table

=

##& Model B Unit T # Stage RiELL Ratio ZBR042 ZBR060 ZBR090 ZBR115 ZBR142 ZBR190 ZBR240
3 - 20 50 140 310 1050 1600
4 18 39 90 240 605 11780 3500
1 5 16 32 70 240 605 1345 2640
7 - - o0 100 320 - -
8 9 20 50 90 300 750 1480
10 T 15 35 90 250 500 -
9 - 25 o0 140 340 1050 1840
12 - 25 50 140 340 2030 1840
15 - 25 o0 140 340 1485 1840
16 20 40 100 260 680 2035 3710
20 20 40 100 260 680 2035 3710
2 25 20 35 80 260 680 1485 2805
32 20 40 100 260 680 2035 3710
40 20 35 80 260 680 2035 2805
o0 20 35 80 260 680 1485 2805
£t L 4G 64 20 20 41 90 300 750 1500
Rated output torqueT2N Nm 60 - 35 60 260 450 2590 1950
64 25 44 110 260 680 2590 3950
80 25 44 110 260 680 2590 3950
100 25 44 110 260 680 2590 3950
120 - 25 60 260 450 1450 1950
125 25 30 90 260 680 1850 3000
160 25 44 110 260 680 2590 3950
200 25 40 90 260 680 1855 3950
3 250 25 - - 260 680 1600 3000
256 20 44 110 - - - -
280 - - - 260 680 - -
320 20 40 60 - - 2590 3950
350 - - - 260 680 - -
400 20 - - 260 680 2590 3950
000 - - - 260 680 1600 3000
512 - 25 o2 - - - -
1000 - - - 260 219 1070 -
S o gem%‘ziﬂpﬁ%rquﬂmm Nm 1,2,3 3 -1000 =fEEEEH S1%E [ Triple rated output torque
ﬁ"’ﬁ_ﬁiﬁ)\%ﬁ 1,2,3 3-1000 4500 4500 4000 3000 3000 2000 1500
Rated input speed n;y
= o : rpm
: Eﬁk.%“)\%ﬁ 1.2.3 3-1000 6000 6000 6000 6000 4000 3500 3000
Maximum input speed 1Mz
i 1 3-10 <15 <15 <15 <15 <15 <15 <15
Precisfn%a?cfkiashlz’l arcmin 2 9-64 <18 <18 <18 <18 <18 <18 <18
3 60-1000 <22 <22 <22 <22 <22 <22 <22
ﬂi%lﬁﬂ’ﬁ‘ . Nm/arcmin 1.2.3 3-1000 0.9 1.8 4.4 9.2 26.7 66.7 123.3
Torsional rigidity
ﬁﬁ& 5173 N 1,2,3 3-1000 170 265 440 1240 3700 6500 10500
Allowable radial force F, ¢
ﬁﬁ% 5173 N 1. 2.3 3-1000 140 200 400 1000 3000 5000 8000
Allowable axial force F._
ﬁﬁﬂ %aﬁﬁ hrs 1,2,3 3-1000 20000
Sevice life
B i 1 3-10 294%
Eﬁjifiicy % 2 9-64 291%
3 60-1000 289%
- 1 3-10 1 2.2 0.3 139 25.9 42.5
Groffeight kg 2 9-64 1.2 2.5 6.1 16.5 30.5 03.9 715
3 60-1000 1.4 2.9 6.7 19.3 39.5 60.5 /8.5
.ﬁ%}ﬁﬁ °C 1.2.3 3-1000 -10° C~90° C
Working temperature
Lutj:?c}iin o 1,2,3 3-1000 & R BAE /| Synthetic lubricating grease
ﬁ;ﬁgﬁé’g 1.2.3 3-1000 IP65
7 3
mstalf;tif dr??_ecmn 1,2,3 3-1000 {£E7 1@ / In any direction
Nij;:fgvgﬁfgggg%ﬁ“pjﬁ%; ) dB 1,2 3-1000 <60 <62 <65 <65 <68 <70 <72
80






















pa

I
Jn
QY Ay
|}
W
X3
T

Hibk3E / ZF &5 / ¥k HEZ / /F Z45 /)

Z F {oy ZF ZFERESEIZE | ZF Series Performance Table
SERIES

Z 5 #l#& Model B{] Unit F5# Stage ImiELL Ratio
- 3 20 50 140 310
4 35 90 240 605
. 5 32 70 240 605
7 - 50 100 320
8 20 50 90 300
10 15 35 90 250
9 25 50 140 340
12 25 50 140 340
15 25 50 140 340
16 40 100 260 680
2 20 40 100 260 680
25 35 80 260 680
32 40 100 - -
40 35 80 260 680
64 20 41 - -
ek e Kirn 60 35 60 260 450
Rated output '[OI"QUSTQN 64 yiVil 110 260 680
80 Vil 110 260 680
100 44 110 260 680
120 25 60 260 450
125 30 90 260 680
160 44 110 260 680
200 40 90 260 680
3 250 - - 260 680
256 44 110 - -
280 - - 260 680
320 40 60 - -
350 . E 260 680
400 - - 260 680
500 - - 260 680
512 25 52 - -
1000 - - 100 275
2= _ .
ESTEEHGY E{Ei%rquﬂ Nm 1,2,3 3 -1000 =fEEERIL S / Triple rated output torque
ZNOT
Ratjjm Efﬂt)\sfgd n 1,2,3 3-1000 4500 4000 3000 3000
MRS FUTURE Sy rom
I RES 1= Vi mfﬂﬁﬁ;ﬁ% f; s 1,2,3 3-1000 6000 6000 6000 4000
1B
—— 1 3-10 <12 <12 <12 <12
B B PR ;
Precision backlashP1 arcimin g 609-160400 —2: ii: iz iflL:
@ nJLERERMNE T - - - -
© 1)\ kS TTIE R R ) B Torsional rigidity Nm/arcmin 1,2,3 3-1000 1.7 4.2 8.7 25.4
Bl /\ /&= 0] 1= BLA+F JE, :
BVFEME ] N 1,2,3 3-1000 265 440 1240 3700
® HASEH BRI Allowable radial force F,; e
BT 1
® it SR M Al Al TSHES Fope N 1,2,3 3-1000 200 400 1000 3000
AL £ e % e hrs 1,2,3 3-1000 20000
® HinHFEIIZSHEF Sevice life =
1 3-10 >97%
@’ Insp=) N
BRI S Eﬁ%fmy % 2 9-64 >94%
3 60-1000 >91%
1 3-10 0.95 2'3 7.6 20
1.For any mounting position Gross weight kg 5 9-64 1.2 2.9 9.7 26
. . . 3 60-1000 1.5 3.6 11.3 32
2.Individual adaptation of the input flange to the motor =
_— " : . e m Q0 1,2,3 3-1000 -10° C~90° C
3.Lifetime lubrication for maintenance-free operation Working temperature
4 Equidirectional rotation Lutﬂ,ﬂijﬁn g 1,2,3 3-1000 & RE 8 mAg / Synthetic lubricating grease
5.Wide range of output shaft designs PAiP SR 193 3-1000 IPB5
IP Grade T
6.Precise gearing o
Instaﬁ:ﬁf d'?,ection 1,2,3 3-1000 {E& 7318 / In any direction
125 {8 (n1=3000rpm, FEAE )
Noise level (n1=3000rpm,off load) aB e =100 = =0 =) =08

93 94



BSBOKSON
B RES

Big3s / 7F 251 /

A Ll A ;‘I{
il ﬁtji@‘?ﬁg

BiEZE / ZF 2% / IMES R

- E = ] ]
(o HEFIBEE D Straight Tooth with Moment of Inertia o |
ZF-L1 9ME B Profile
Mg Model EE{ Unit Ti¥ Stage IRiELL Ratio s
3 0.135 0.77 263 12.14 S 2 =i
4 0.093 0.52 1.79 7.78 = e
| |
5 0.078 0.45 1.53 6.07 t1T
Lé LS T |
L i I"i'_i}
7 . 0.40 1.32 4.63 Vo | | S
L - /= | bl 3
8 0.065 0.39 1.32 4.63 ‘/L 5 ° (-5 o _%';[ 2
| I|
10 0.065 0.39 1.32 4 63 / L L. |
L4 |
9 0.131 0.74 2.62 12.14
12 0.127 0.72 262 12.37 =
c4
15 0.077 0.71 2 62 12.35
16 0.088 0.50 2.62 7.47 /
E1hYy
20 0.075 0.44 2.53 6.65 / B2h?
2 " 77 -
25 0.075 0.44 1.50 5.81 @ = <@)\ % ..... = /L {9 o
27, |
32 0.064 0.39 1.50 5.81 . N /
P 81 Dés AT 82 Dés hIT, 83 ;
40 0.064 0.39 1.30 5.28 — — /
50 0.064 0.39 1.30 5.28 Ls
i B4 0.064 0.39 1.30 5.28
tR)iRE J kg.cm? - "
- - 60 0.076 0.51 112 7.50 x: L EATHEXNSENRYT, BARRTIRIEREBIRT EH
B4 0.076 0.50 1.12 7.50 @ Rr‘ri gsjze
80 0.075 0.50 1.12 7.50
100 0.075 0.44 1.50 7.40 R~¥ ZF120
120 0.064 0.70 1.50 7.30 D1 70 100 130 185
125 0.064 0.65 1.50 7.20 D2 09 6.9 J 1
D3 14/16 20/22 25/32 40
160 0.064 0.39 1.30 6.50 — = — 116 romm
. 200 0.064 0.39 1.30 6.20 D5 17 25 40 60
250 - - 1.30 5 40 D6 M5x0.8P M8x1.25P M10x1.5P M16x2P
— ] ] 1 50 —— D7 10 15 20 35
D8 60 82 118 162
320 0.064 0.39 1.30 5.40 = = == = =
390 . = 1.30 2.40 L2 32 40 54 86
400 = : 1.30 5.20 L3 3 3 3 o
— ] ] 3 & _— L4 28 36 50 80
L5 25 30 40 65
512 0.064 0.39 - 2 e - g B -
1000 - - 1.30 4 .90 17 8 10 13 18
L8 <24 <30 <52 <60
L9 12 16 25 35
il 70 90 145 200
C2 M4x0.7P Mb5x0.8P M8x1.25P M12x1.75P
C3 <12/<16 <19/<24 <35 <42
C4 33 45 60 82
C5 50 70 110 114.3
C6 5 8 8 8
C7 60 85 128 178
C8 20 26 43 50
C9 112 140 193.5 252
C10 16 16 25 35
Bl 5 B 8/10 12
B2 3 5 6 10
H1 16/18 22 5/24.5 28/35 43
H2 11.4 17.3 228 38.3

95 96






LFR scres

51

M gEYE = FUTURE

99

® oJLZXIERNE

® Hi A= EBCHFIREY B

® HAE B RYER
® ek 5 [E[E Mo
® HHHMENSH
@ BHIS

® ERIZ

ARt

1.For any mounting position

2.Individual adaptation of the input flange to the motor
3.Lifetime lubrication for maintenance-free operation

4 Equidirectional rotation

5.Wide range of output shaft designs

6.Precise gearing
7. Transmission diversity

\

/ ,—f\t
\3]~|

Bi&3E / /FR R

X

| / 1 RES:

#4& Model B{I Unit T & Stage IRELL Ratio ZFR60 ZFR120 ZFR160
3 20 o0 140 310
4 35 90 240 605
1 5 32 70 240 605
7 - 50 100 320
8 20 50 90 300
10 15 35 90 250
9 25 o0 140 340
12 25 o0 140 340
15 25 50 140 340
16 40 100 260 680
2 20 40 100 260 680
25 35 80 260 680
32 40 100 260 680
40 35 80 260 680
64 20 41 - 3
SR 4B e 60 35 60 260 450
Rated output torqueT2N 64 Vil 110 260 680
80 44 110 260 680
100 44 110 260 680
120 25 60 260 450
175 30 90 260 680
160 44 110 260 680
200 40 90 260 680
3 250 - - 260 680
256 44 110 240 605
280 - - 260 680
320 40 60 - 3
350 - - 260 680
400 - - 260 680
500 - - 260 680
512 25 92 100 250
1000 - - 100 275
e genﬁ{si;ﬂﬁ%rquenm Nm 1,2,3 3-1000 =fEEER H E / Triple rated output torque
%ﬁiﬁ)\%ﬁ 1:2.3 3-1000 4500 4000 3000 3000
Rated input speed N, o
. %Kﬁ)\ﬁiﬁ 1,2,3 3-1000 6000 6000 6000 4000
Maximum input speed n,g
— 1 3-10 <15 <15 <15 <15
precision backlashP1 arcmin : S = ik sib Eis
ﬂiﬁ‘lﬂﬂ{l‘i‘ . Nm/arcmin 1.2.3 3-1000 1L 4.2 8.7 25.4
Torsional rigidity
ﬁi@fi 517 N 1:2.3 3-1000 265 440 1240 3700
Allowable radial force F,.
a ﬁ% 5173 N 1,2,3 3-1000 200 400 1000 3000
Allowable axial force F,
Eﬁﬁ %ﬁ hrs 1:2:3 3-1000 20000
Sevice life
N 1 3-10 =294%
e % 2 9-64 >91%
Efficiency
3 60-1000 =289%
_ 1 3-10 1.95 4.95 12,5 26.5
ijjfei - kg 2 9-64 2.25 5.55 15.7 32.5
3 60-1000 2.56 6.25 17.3 38.5
.{E%}EE °C 1.2.8 3-1000 -10° C~90° C
Working temperature
Lugffﬁn ’ 1,2,3 3-1000 & HEHAS / Synthetic lubricating grease
Pg?gﬁéi 1.2.8 3-1000 IP65
L
Instaﬁ;t‘if dr?}',ecﬂon 1,2,3 3-1000 {£& 7310 / In any direction
ERE 18 (n1=3000rpm, LR ) dB 1,2 3-1000 <62 <65 <65 <68

Noise level (n1=3000rpm,off load)

100




BSBOKSON
B RES

HiE% / ZFR 2% / \NEE R~

b3 / ZFR F5 /| HEES

- E = ] ]
oy HEENIEEHEY Straight Tooth with Moment of Inertia - _
ZFR-L1 9ME B Profile
& Model BE{ Unit F¥ Stage RiiELL Ratio ZFRO60 ZFR080 ZFR120 ZFR160
ce
3 0.135 0.77 2.63 12.14 oLy 2 LT i
L3 i -l
4 0.093 0.52 1.79 7.78
5 0.078 0.45 153 6.07 Lo |
7 - 0.40 1.32 4.63 2 . . '-\
8 0.065 0.39 1.32 4.63
LS e
10 0.065 0.39 1.32 4.63 L4
9 0.131 0.74 2.62 12.14 |
b = ey
12 0.127 0.72 2.62 12.37 ! __'___-4;=_JT__4' o B
- I
15 0.077 0.71 2.62 12.35 '.Ecsn'
16 0.088 0.50 2 62 7.47 pEote
20 0.075 0.44 253 6.65 - /
] GZhe
/
25 0.075 0.44 1.50 5.81 N pi -
© - (©) =)L e
32 0.064 0.39 1.50 5.81 v/ &% . //
shadst, 51 Dé st 52 D& shad 53 /
40 0.064 0.39 1.30 5.28 s - r,
50 0.064 0.39 1.30 5.28 "
64 0.064 0.39 1.30 5.28
RoRE J; kg.cm?
60 0.076 0.51 1.12 7.50 F: DLEAERENBIRSN, BARRS o BEEARBIL R~ EFl
64 0.076 0.50 1.12 7.50 _
N
80 0.075 0.50 1.12 7.50 @ R_'rﬁ SIZE
100 0.075 0.44 1.50 7.40 Rt ZER190 2ER160
120 0.064 0.70 1.50 7.30 = = o0 a0 e
125 0.064 0.65 1.50 7.20 D2 55 6.5 9 11
160 0.064 0.39 1.30 6.50 D3 14/16 20/22 25/32 40
D4 50 80 110 130
200 0.064 0.39 1.30 6.20
D5 17 25 40 60
250 - . 1.30 .40 D6 M5x0.8P M8x1.25P M10x1.5P M16x2P
280 . = 1.30 5.70 D7 10 15 20 35
DS 60 82 118 162
320 0.064 0.39 1.30 5.40
L1 60 85 115 165
Sa ] ] 1.30 i L2 32 40 54 86
400 - ’ 1.30 5.20 L3 3 3 3 5
— ] ] 3 65 E 1 L4 28 36 50 80
L5 25 30 40 65
1000 s ; 1.30 4.90 L7 8 10 13 18
L8 <2/ <30 <52 <60
L9 12 16 25 35
C1 70 90 145 200
C2 M4ax0.7P M5x0.8P M8x1.25P M12x1.75P
C3 <12/<16 <19/<24 <35 <42
C4 33 45 60 82
C5 50 70 110 114.3
C6 5 8 8 8
C7 60 85 128 178
C8 20 26 43 50
C9 1483 181 253 352.5
C10 16 16 25 35
Cc11 95.5 131.5 183 263
B1 5 6 8/10 12
B2 3 5 6 10
H1 16/18 22 5/24.5 28/35 43
H2 11.4 17:3 22.8 38.3

101







i
AYAY

AN
W
S

HiG2E / ZFS &4 / B Hib3E / /FS &R /5

Z F S {oy ZFS ZFMERES %3 | ZFS Series Performance Table
SERIES

| #4% Model B{ Unit ¥ Stage IFiELL Ratio ZFS60 ZFS120 ZFS160
%ﬁ] 3 20 50 140 310
4 35 90 240 605
. 5 32 70 240 605
7 - 50 100 320
8 20 50 90 300
10 15 35 90 250
9 25 50 140 340
12 25 50 140 340
15 25 50 140 340
16 40 100 260 680
2 20 40 100 260 680
25 35 80 260 680
32 40 100 - -
40 35 80 260 680
64 20 41 - -
SR 4B Kirn 60 35 60 260 450
Rated output torqueT2N 64 Vil 110 260 680
80 uy 110 260 680
100 44 110 260 680
120 25 60 260 450
125 30 90 260 680
160 4y 110 260 680
200 40 90 260 680
3 250 - - 260 680
256 44 110 - -
280 - - 260 680
320 40 60 - -
350 - - 260 680
400 - . 260 680
500 - - 260 680
512 25 52 - -
1000 - - 100 275
e genf;'ﬁgi%rquﬂm Nm 1,2,3 3 -1000 =fEEERH S4B / Triple rated output torque
s Ratf?ffﬂf;%j d fio 1,2,3 3-1000 4500 4000 3000 3000
7 Fpm
MEREFF R FUTURE  RARINKIR " 1,2,3 3-1000 6000 6000 6000 4000
Maximum input speed n,g
1 3-10 <12 <12 <12 <12
: .*%%%Bﬁ arcmin 2 9-64 <15 <15 <15 <15
@ Tl EENE PIERiin RkasiF 3 60-1000 <18 <18 <18 <18
0j %z IS AVR=]
HARRITE Nm/arcmin 1,2,3 3-1000 1.7 4.2 8.7 25.4
® i \k L BRI B e
“iriio
T Kllawable: radia] faree ., N 1,2,3 3-1000 265 440 1240 3700
BVFH @1
® iFit S HEM Allowalile 53l 10168 F,uy N 1,2,3 3-1000 200 400 1000 3000
i [ERE )
® Eﬁjtjfh Fﬁitz*;ﬁ Savice [ hrs 1.2,3 3-1000 20000
‘ 1 3-10 >97%
® RIS R % 2 9-64 >94%
Efficiency
® EENZ M 3 60-1000 >91%
-~ 1 3-10 0.95 2.3 7.6 20
1.For any mounting position EiFeiss WeiEh kg 2 Lot 1.2 22 G 20
2.Individual adaptation of the input flange to the motor ,. ° i — o — %
L o . . e m ° G 12,3 3-1000 -10° C~90° C
3.Lifetime lubrication for maintenance-free operation Working temperature o
4 Equidirectional rotation Lub;:?éfting 1,2,3 3-1000 S REB A / Synthetic lubricating grease
5.Wide range of output shaft designs F?gﬁi 123 3-1000 P65
o.Precise gearing ZETE 1,2,3 3-1000 {£& 7@ / In any direction
7.Transmission diversity — gSta”a“U” d”’ecn‘?’;ﬁ - -
No:rs: :evé? :(Ln ?Sggfi}%?pn?lﬁggf ]oagd) dB e o FUHY =0 =58 =3 =ad

105 106



BSBOKSON
B RES

s

Big2s / ZFS &A% / IMES RS

s
OVl
W
Y
s

HiE3E / ZFS &5/

= Straight Tooth with Moment of Inertia
© RAREAX Straig W | ZFS 4MIZE Profile

. EBRY

i

= N

L&

L4

LS

L/

ZF %%

@

L2

L1

$D1hs

$ D2

$:D3gb

4 D4

Bh

95

{oy R~ size

ZFS060

2

ZFS080

2

ZFS120

2

ZFS160

p

HI#& Model B4 Unit 3% Stage RiEH Ratio ZFS060 ZFS080 ZFS160
3 0.135 0.77 2.63 12.14
4 0.093 0.52 1.79 .78
5 0.078 0.45 1.53 6.07
; 7 - 0.40 1.32 4.63
8 0.065 0.39 132 4 63
10 0.065 0.39 1.32 4.63
9 0.131 0.74 2.62 12.14
12 0.127 Q.72 2.62 12 .87
15 0.077 0.71 2.62 12.35
16 0.088 0.50 2.62 .47
20 0.075 0.44 2.93 6.65
’ 25 0.075 0.44 1.50 5.81
32 0.064 039 1.50 a8l
40 0.064 0.39 1.30 0.28
o0 0.064 0.39 1.30 .28
64 0.064 0.39 1.30 5.28
BHRE J, kg.cm?

60 0.076 0.51 1.12 7.90
o4 0.076 0.50 1.12 7.50
80 0.075 0.50 117 .90
100 0.075 0.44 1.50 7.40
120 0.064 0.70 1.50 7.30
125 0.064 0.65 1.50 7.20
160 0.064 0.39 1.30 6.50
200 0.064 0.39 1.30 6.20
° 250 - B 1.30 .40
280 - - 1.30 H.70
320 0.064 0.39 1.30 .40
390 - - 1.30 5.40
400 - - 1.30 5.20
00 - - 1.30 5.10

012 0.064 0.39 - -
1000 - - 1.30 4.90

107

D2 20 20 20 30 30 30 40 40 40 50 40 40
D3 40 40 40 60 60 60 80 80 80 130 80 80
D4 60 60 60 82 82 82 118 118 118 165 118 118
D5 52 52 52 70 70 70 100 100 100 145 100 100
L1 3 3 3 3 3 3 o 5 5 4 5 5
L2 16 16 16 20 20 20 30 30 30 50 30 30
L3 21 21 21 26 26 26 40 40 40 58 40 40
L4 3 3 3 3 3 3 & 4 4 5 4 4
L5 25 25 25 30 30 30 45 45 45 65 45 45
L6 129 146.5 164 156 175.5 195 222 251 280 326 327.5 374.5
C 4-M5 4-M5 4-M5 4-M6 4-M6 4-M6 4-M10 4-M10 4-M10 4-M12 4-M10 4-M10
B 3 3 3 5 5 5 6 6 6 10 6 6

H 11.2 11.2 11.2 18 18 18 22.5 22.5 22.5 38 22.5 22.5
L M3x6 M3x6 M3x6 M6x15 M6x15 M6x15 M6x15 M6x15 M6x15 M10x25 M6x15 M6Ex15

108




\
b

RYLY
N
x}t}

T

B2 / ZE 551 / i B / ZE 55 / 6

ZE SERIES

= 5“ #14& Model B{ Unit ¥ Stage IFiELL Ratio
~ 3 20 50 140 310
4 35 90 240 605
. 5 32 70 240 605
7 - 50 100 320
8 20 50 90 300
10 15 35 90 250
9 25 50 140 340
12 25 50 140 340
15 25 50 140 340
16 40 100 260 680
2 20 40 100 260 680
25 35 80 260 680
32 40 100 260 680
40 35 80 260 680
64 20 41 - -
& ek h4E Kirn 60 35 60 260 450
Rated output '[UI"QUSTQN 64 yiVil 110 260 680
80 uy 110 260 680
100 44 110 260 680
120 25 60 260 450
125 30 90 260 680
160 4y 110 260 680
200 40 90 260 680
3 250 - - 260 680
256 44 110 - -
280 - - 260 680
320 40 60 _ -
350 - - 260 680
400 - - 260 680
500 - - 260 680
512 25 52 - -
1000 - - 100 275
2= _ .
Emergency E{Ei%rquﬂ Nm 1,28 3 -1000 =EEEHH SI5E / Triple rated output torque
ZNOT
Ratfdm Efﬂt)\s%efd n 1,2,3 3-1000 4500 4000 3000 3000
MRS FUTURE Sy rom
I RS = Vi mfnﬁﬁ;{j\f f; s 1,2,3 3-1000 6000 6000 6000 4000
1B
—— 1 3-10 <12 <12 <12 <12
B B PR ;
Precision backlashP1 arcimin g 609-160400 —2: j: iz iflL:
@ TJLRIESNE T - - - -
© 1)\ kS TTIE R R ) B Torsional rigidity Nm/arcmin 1,2,3 3-1000 1.7 4.2 8.7 25.4
Bl /\ /&= 0] 1= BLA+F JE, :
BVFEME ] N 1,2,3 3-1000 265 440 1240 3700
® HASEH BRI Allowable radial force F,; e
BT 1
® it S EEM Al Al TSHES Fope N 1,2,3 3-1000 200 400 1000 3000
AL £ (e %o hrs 1,2,3 3-1000 20000
@ HiHIMFEINZIF Sevice life =
1 3-10 >97%
@’ Insp=) M <
I Eﬁ%icy % 2 9-64 >94%
3 60-1000 >91%
1 3-10 0.95 2.3 7.6 20
1.For any mounting position Gross weight kg 5 9-64 1.2 2.9 9.7 26
. . . 3 60-1000 1.5 3.6 11.3 32
2.Individual adaptation of the input flange to the motor =
_— . : . R imE X's 1,2,3 3-1000 -10° C~90° C
3.Lifetime lubrication for maintenance-free operation Working temperature
4 Equidirectional rotation Lutﬂf&fﬁn g 1,2,3 3-1000 & RE 8 mAg / Synthetic lubricating grease
5.Wide range of output shaft designs PAiP SR 193 3-1000 IPB5
IP Grade T
6.Precise gearing S
Instaﬁ;ﬁf d'?,ection 1,2,3 3-1000 {E& 7318 / In any direction
125 {8 (n1=3000rpm, FEAE )
Noise level (n1=3000rpm,off load) dB L2 O = =8 =50 =08

109 110



BiG3s / 7E 2751 / It

oy REEIBEH Y Straight Tooth with Moment of Inertia

E ] Unit

4% Model

Wb

Wk
<7

BSBOKSON
B RES

ERRE J; kg.cm?

T & Stage JAiEEL Ratio

3 0.135 0.77 263 1214
4 0.093 0.52 1.79 7.78
5 0.078 0.45 1.53 6.07
; 7 . 0.40 1.32 4.63
8 0.065 0.39 1.32 463
10 0.065 0.39 1.32 4.63
9 0.131 0.74 2 62 12.14
12 0.127 0.72 2.62 12.37
15 0.077 0.71 2 62 12.35
16 0.088 0.50 2.62 7.47
20 0.075 0.44 2 53 6.65
’ 25 0.075 0.44 1.50 5.81
32 0.064 0.39 1.50 5.81
40 0.064 0.39 1.30 5.28
50 0.064 0.39 1.30 5.28
B4 0.064 0.39 1.30 5.28
) 0.076 0.51 112 7.50
B4 0.076 0.50 1.12 7.50
80 0.075 0.50 1.12 7.50
100 0.075 0.44 1.50 7.40
120 0.064 0.70 1.50 7.30
125 0.064 0.65 1.50 7.20
160 0.064 0.39 1.30 6.50
200 0.064 0.39 1.30 6.20
° 250 - - 1.30 5.40
280 - - 1.30 5.70
320 0.064 0.39 1.30 5.40
350 - - 1.30 5.40
400 - - 1.30 5.20
500 - - 1.30 5.10

512 0.064 0.39 - .
1000 : : 1.30 4.90

[ 1 §

B3 / /E &5 /SR

ZE-L1 9MEE Profile

AT, 51

¢ D2 &

©)

Dé

b D3hds

cY

o Ddads

L2 L1 cs g7
L3 ci0 9
| |
— 5
il
8 [ x _#“TIL‘_E 3
> _@ > 1 _u__g 2
| l|
E '———!:
—
L4
06
04
B1h9
BZh9
I =
s
L h % S o
(5] |
ST 82 Dé| ih2STh 83
4 D3hé

L7

E: UEAERENEINRYT, BARRToRERAEIRTES

oy R~ size

D1 52 70 100 145
D2 M5x0.8P M6x1P M10x1.5P M12x1.75P
D3 14/16 20/22 25/32 40
D4 40 60 80 130
D5 17 25 40 60
D6 M5x0.8P M8x1.25P M10x1.5P M16x2P
D7 10 15 20 35
D8 60 82 118 162
L1 13 12 18 23
L2 32 40 b4 86
L3 3 3 3 o
L4 28 36 50 80
LS 25 30 40 65
L6 2 3 5 7
L7 <24 <30 <b2 <60
L8 12 16 25 35
Cl 70 90 145 200
C2 M4x0.7P M5x0.8P M8x1.25P M12x1.75P
C3 <12/<16 <19/<24 <35 <42
C4 33 45 60 82
C5 50 70 110 114 .3
C6 S 8 8 8
C7 60 85 128 178
C8 20 26 43 50
C9 112 140 193.5 252
C10 16 16 25 35
Bl 5 6 8/10 12
B2 3 5 6 10
H1 16/18 22.5/24.5 28/35 43
H2 11.4 17.3 22.8 38.3







W

BHiE3 / ZER K5I / BER B3 / ZER X4l /|

Z E R oy ZER Z ¥ fEE#E |/ ZER Series Performance Table
SERIES

I M1& Model B Unit T#Stage IREEL Ratio ZERG60 ZER120 ZER160
"%51 3 20 50 140 310
4 35 90 240 605
5 32 70 240 605
L 7 « 50 100 320
8 20 50 90 300
10 15 35 90 250
9 25 50 140 340
12 25 50 140 340
15 25 50 140 340
16 40 100 260 680
2 20 40 100 260 680
25 35 80 260 680
32 40 100 260 680
40 35 80 260 680
B4 20 41 : .
& ke L 4B - 60 35 60 260 450
Rated output torqueT2N 64 Vil 110 260 680
80 ny 110 260 680
100 44 110 260 680
120 25 60 260 450
125 30 90 260 680
160 uy 110 260 680
200 40 90 260 680
3 250 4 : 260 680
256 uu 110 - .
280 . . 260 680
320 40 60 : .
350 - - 260 680
400 . - 260 680
500 4 : 260 680
512 25 52 - .
1000 , . 100 275
e genﬁ{iigi%rquenm Nm 1,2,3 3 -1000 =fEEER I / Triple rated output torque
s Ratfﬁdﬁﬁfﬂf\fg A fis 1,2,3 3-1000 4500 4000 3000 3000
" Fpm
£REF R FUTURE  RARINKIR " 1,23 3-1000 6000 6000 6000 4000
Maximum input speed n,g
1 3-10 <15 <15 <15 <15
: E%%Bﬁ arcmin 2 9-64 <18 <18 <18 <18
® o] = 3 {f _-::.{-t- oo PrEshioh ba oK EsiFL 3 60-1000 <22 <22 <22 <22
D &ZRITRIMNE
HARIE Nm/arcmin 1,2,3 3-1000 1.7 %) 8.7 25.4
® i \k L BRI B e
“irizio
© ST Gk KlicwablEs radisl fare s N 1,2,3 3-1000 265 440 1240 3700
AR A
® IS EER Aloiahleaxial 16168 F.. N 1,2,3 3-1000 200 400 1000 3000
) ERES _
® Eﬁﬁ Il:jf'i-.. 1‘$:T:t§1‘$ Savice [ hrs 1.2,3 3-1000 20000
‘ N . 1 3-10 >94%
® RIRINE R % 2 9-64 >91%
Efficiency
® ZiZ M 3 60-1000 >89%
_ 1 3-10 1.95 4.95 12.5 26.5
===
1.For any mounting position Gms_s_feigm kg 2 9-64 2.25 9.99 15.7 32.5
2.Individual adaptation of the input flange to the motor = ° S 250 025 L 785
L o . . e m ° G 1.2.3 3-1000 -10° C~90° C
3.Lifetime lubrication for maintenance-free operation Working temperature -
4 .Equidirectional rotation Lugﬁéftin g 1,2,3 3-1000 B FkiE 8 HAE / Synthetic lubricating grease
5.Wide range of output shaft designs Fg?gﬁéi 123 21000 IPEE
o.Precise gearing ZETE 1,2,3 3-1000 {E& 7518 / In any direction
7 .Transmission diversity — ';Sta”a“m d“’ect"?*;ﬁ - -
oia I{evg:%n fgggg%% nﬁ'}”& IO; ) dB 12 3-1000 <62 <65 <65 <68

115 116



BSBOKSON
B RES

Bi&8% / ZER 271 / INES R

NTRN S NY:
T Bb fffi“‘ﬁﬁ

HiE3S / ZER 241 /'

- E = [ ] L
oy BB HE Straight Tooth with Moment of Inertia e |
ZER-L1 4MEE Profile
A& Model BE{i Unit F# Stage JFUEL Ratio ZERO060 ZERO080 ZER120 ZER160
ce
3 0.135 0.77 2.63 12.14 L2 L oy
) <C
4 0.093 0.52 1.79 7.78 o % =
5 0.078 0.45 1.53 6.07 oy ™ |
1 \
7 - 0.40 1.32 4.63 s } |
1 Ele-e-—4— Y+
8 0.065 0.39 1.32 4.63 i
L& o
10 0.065 0.39 1.32 4.63 . |
. | T
9 0.131 0.74 2.62 12.14 ' ’ s
E == '_"‘I_J.'r‘f—
12 0.127 0.72 2.62 12.37 - __j_jl__g"_ii-- = 8
= |
15 0.077 0.71 2.62 12.35 _I_Pm!
16 0.088 0.50 2.62 7.47 _—
20 0.075 0.44 2.53 6.65 - [ /
2 : B2h9
/
25 0.075 0.44 1.50 5.81 AN i a 7o
©® (@) 1
32 0.064 0.39 1.50 5.81 T = /_/ '
fhatst, st D& A, s2 04 mavst, 53 |
40 0.064 0.39 1.30 5.28 " - P
50 0.064 0.39 1.30 5.28 L7
i 64 0.064 0.39 1.30 5.28
toiRE J kg.cm? ¥ L U
- - 60 0.076 0.51 112 7.50 x: L EATHEXNSENRYT, BARRTIRIEREBIRT EH
64 0.076 0.50 1.12 7.50 @ Rr‘ri gsjze
80 0.075 0.50 1.12 7.50
100 0.075 0.44 1.50 7.40 R~ ZER60 ZER120 ZER160
120 0.064 0.70 1.50 7.30 D1 02 /0 100 145
156 P ey S &R S— D2 M5x0.8P M6x1P M10x1.5P M12x1.75P
D3 14/16 20/22 25/32 40
160 0.064 0.39 1.30 6.50 — a0 — S0 romm
. 200 0.064 0.39 1.30 6.20 D5 17 25 40 60
250 - - 1.30 5 40 D6 M5x0.8P M8x1.25P M10x1.5P M16x2P
— ] ] 1 50 —— D7 10 15 20 35
D8 60 82 118 162
320 0.064 0.39 1.30 5.40 = = = = =
350 - - 1.30 5.40 12 392 40 5/ 86
400 - - 1.30 5.20 L3 3 3 3 S
— ] ] 3 & _— L4 28 36 50 80
L5 25 30 40 65
512 0.064 0.39 - - e - g B -
1000 E - 1.30 4.90 L7 <24 <30 <52 <60
L8 12 16 25 35
Cl 70 90 145 200
C2 M4x0.7P Mb5x0.8P M8x1.25P M12x1.75P
C3 <12/<16 <19/<24 <35 <42
C4 33 45 60 82
C5 50 70 110 114.3
C6 5 8 8 8
C7 60 85 128 178
C8 20 26 43 50
C9 143.3 181 253 352.5
C10 16 16 25 35
C11 95.5 131.5 183 263
B1 5 6 8/10 12
B2 3 5 6 10
H1 16/18 22.5/24.5 28/35 43
H2 11.4 17.3 22.8 38.3

[ ¥ 4

118







LES s:q:c

e #4& Model B{ Unit 5% Stage FELL Ratio ZES120 ~ES160
~ 3 20 50 140 310
4 35 90 240 605
. 5 32 70 240 605
7 - 50 100 320
8 20 50 90 300
10 15 35 90 250
9 25 50 140 340
12 25 50 140 340
15 25 50 140 340
16 40 100 260 680
2 20 40 100 260 680
25 35 80 260 680
32 40 100 260 680
40 35 80 260 680
64 20 41 _ -
& ek h4E Kirn 60 35 60 260 450
Rated output '[OI"QUSTQN 64 yiVil 110 260 680
80 uy 110 260 680
100 44 110 260 680
120 25 60 260 450
125 30 90 260 680
160 4y 110 260 680
200 40 90 260 680
3 250 - - 260 680
256 44 110 - -
280 - - 260 680
320 40 60 _ -
350 - - 260 680
400 - - 260 680
500 - - 260 680
512 25 52 - -
1000 - - 100 275
2= _ .
Emergency E{Ei%rquﬂ Nm 1,28 3 -1000 =EEEHH SI5E / Triple rated output torque
ZNOT
Ratfdm Efﬂt)\s%efd n 1,2,3 3-1000 4500 4000 3000 3000
M REYSE R FUTURE BABAEE pm
I RS = Vi mfnﬁﬁ;{j\f f; s 1,2,3 3-1000 6000 6000 6000 4000
1B
—— 1 3-10 <12 <12 <12 <12
B B PR ;
Precision backlashP1 arcin g 609-160400 —2: j: iz iflL:
@ TJLRIESNE T - - - -
© i)k TTIE AR A Torsional rigidity Nm/arcmin 1,2,3 3-1000 1.7 4.2 8.7 25.4
Bl /\ /&= 0] 1= BLA+F JH, :
BVFEME ] N 1,2,3 3-1000 265 440 1240 3700
® HASEH BRI Allowable radial force F,; e
BVFH @1
® EE A OED Alloiable axial 16168 F e N 1,2,3 3-1000 200 400 1000 3000
AL £ (e %o hrs 1,2,3 3-1000 20000
@ HiHIMFEINZIF Sevice life =
1 3-10 >97%
@’ Insp=) 5 22
RIS Eﬁ%icy % 2 9-64 >94%
3 60-1000 >91%
1 3-10 0.95 2.3 7.6 20
1.For any mounting position Gross weight kg 5 9-64 1.2 2.9 9.7 26
. . . 3 60-1000 1.5 3.6 11.3 32
2.Individual adaptation of the input flange to the motor =
_— . : . R imE X's 1,2,3 3-1000 -10° C~90° C
3.Lifetime lubrication for maintenance-free operation Working temperature
4 Equidirectional rotation Lutﬂf&fﬁn g 1,2,3 3-1000 & RE 8 mAg / Synthetic lubricating grease
5.Wide range of output shaft designs PAiP SR 193 3-1000 IPB5
IP Grade T
6.Precise gearing S
Instaﬁ;ﬁf d'?,ection 1,2,3 3-1000 {E& 7318 / In any direction
2518 (n1=3000rpm, ToHA % )
Noise level (n1=3000rpm,off load) dB L2 O = =8 =50 =t

121 122



BSBOKSON
B RES

+

| 11

anp
oG
Vi
YD
<3

B8 / ZES 25 / IMNES R

BHiE3s / ZES &5 /!

E = " n
o} ¥ETNIBSEY Straight Tooth with Moment of Inertia e |
ZES JMEE Profile
HI4 Model B Unit 3% Stage JFiEH Ratio ZES060 ZES080 ZES120 ZES160
Lé
3 0.135 0.77 263 12.14
I 0.093 0.52 1.79 7.78 LS
L4 . | )
5 0.078 0.45 1563 6.07 il A &
1 !
7 _ 0.40 1.32 4.63
8 0.065 0.39 1.32 463 L2 L1
10 0.065 0.39 1.32 463 o | 9
1C o) (o) al o 8 S
9 0.131 0.74 2.62 12.14 o G ©
12 0.127 0.72 262 12.37
i5 0.077 0.71 2 62 12.35
16 0.088 0.50 2.62 747
20 0.075 0.44 253 6.65
5 Bh9
25 0.075 0.44 1.50 5.81 J
32 0.064 0.39 1.50 5.81 =
10 0.064 0.39 1.30 5.28
7
50 0.064 0.39 1.30 5.28 . HERTSE ZE X5
64 0.064 0.39 1.30 5.28
BHRE J, kg.cm?
60 0.076 0.51 1.12 7.50
64 0.076 0.50 1.12 7.50
80 0.075 0.50 1.12 7.50
100 0.075 0.44 1.50 7.40 @ R‘T % :
D SiZze
120 0.064 0.70 1.50 7.30
125 0.064 0.65 1.50 7.20 ZES060 ZES080 ZES120 ZES160
160 0.064 0.39 1.30 6.50 ; » 5 .
200 0.064 0.39 1.30 6.20
3
250 - ; 1.30 5.40
D2 20 20 20 30 30 30 10 10 40 50 40 40
280 3 - 1.30 5.70
D3 10 10 40 60 60 60 80 80 80 130 80 80
320 0.064 0.39 1.30 5.40
D4 60 60 60 82 82 82 118 118 118 165 118 118
350 ; _ 1.30 5.40
D5 52 52 52 70 70 70 100 100 100 145 100 100
400 . : 1.30 5.20
L1 3 3 3 3 3 3 5 5 5 I 5 5
500 _ ; 1.30 5.10
L2 16 16 16 20 20 20 30 30 30 50 30 30
512 0.064 0.39 : .
L3 21 21 21 26 26 26 10 10 10 58 40 10
1000 ; ; 1.30 4.90
L4 3 3 3 3 3 3 I 1 4 5 4 I
L5 25 25 25 30 30 30 15 45 45 65 45 5
L6 129 146.5 164 156 175.5 195 200 251 280 326 327 5 374.5
C 4-M5 4-M5 4-M5 4-M6 4-M6 4-M6 4-M10 4-M10 4-M10 4-M12 4-M10 4-M10
B 3 3 3 5 5 5 6 6 6 10 6 6
H 11.2 11.2 11.2 18 18 18 22 5 22 5 225 38 29 5 22 5
Z M3x6 M3x6 M3x6 M6x15 M6x15 M6x15 M6x15 M6x15 M6x15 M10x25 M6x15 MB6x15

123 124



" h e SO0KSON
Hi53 / Z<Bofem Assembly Guide 8RB

= it
E i E it
B5 EHYl EEXE B14 HYlHEXE 0 3

IT/I1B
Series

BHEP
. LA
- : 5 o

2 B AEEAARIE B B Tl S 3 AR AEE SR o imia T

251
?;J-'Lll RLIZTB-LI/R ] sereal o 134
5 EFFRRIRL MBI NF BN EEEEE, il el ZT-H | ZTB-H series
SR E%EE%ET:'[E] J:i%’riﬁﬁﬁﬁﬁ%m—'ﬁﬁiﬂﬂ%m%} ES. REBEEEFE G EEABH SREN 2R ST EE. ZE 135
ZT-C | ZTB-C series
T 136
;;J-'LM/ RM/ZTB-LM/RMseries 137
;;J-'L“V' | ZTB-A4M sees 138
ZT-FL | ZTB-FL series
e 141
ZT-FL1/FR1 / ZTB-FL1/FR1 series
i 144
120/115 142/160 g;;'FH [ZTB-FH=edes 147
ZT-FC | ZTB-FCseres . 150

£




PRAER G IROENZS / ZT/2TB E5| / BhA PEAERIGHIRIENE / ZT/2TB X5 / 1T 1Ia4CHS

ZT/ZTB scres

25
RIEY B S i 8
ZT065, ZT075, ZT090, ZT110, ZT140, - E= 1 DiExE
ZT170, ZT210, ZT240, ZT280 | 1Stager1,15,2,38,45 | DSBRilEHRkES

ZTB065, ZTB075, ZTB090, ZTB110, ZTB140,
ZTB170, ZTB210, ZTB240, ZTB280

s " . ", " o B

ZT-FL/-FL1/-FR1

ZT-L/-L1/-R1 ZT-H/-C ZT-FH/-FC 0 S
' R o 480 D B 0 i 4 '

L/L1/H/C/R1/LM/RM/4M S1: FiREH

- S2: WEEH

% FHEHl: ZT065-L-001.5-S1 / SIEMENS 1FK6 032-6AK71

ZTB-L/-L1/-R1  ZTB-FL/-FL1/-FR1 ZTB-H/-C ZTB-FH/-FC ZTB-4M/-LM/-RM £TB065-L-001.5-S1 / SIEMENS 1FKGE 032-6AK71

RENRS

# #ERE R FUTURE ; o B . -
- ZT065, ZT075, ZT090, ZT110, ZT 140, || 1Stage:1 15.2 3 4 5 . Bikxw
. ZT170, ZT210, ZT240, ZT280 | | 2Stage:7,10,15,20,25,35,50 | | | DAFIEHRES
® FEHES ST - ZTBO65, ZTBO75, ZTB09O, ZTB110, ZTB140, | | | ©Stage:75,100, 125,150,200, & |
: ; _ _ _ 1 250, 350, 500 .
PO ~ ZTB170, ZTB210, ZTB240, ZTB280
I:IE:I% ZT . .
#X -ZTB
® =FP 5 Ik r ;ﬁiééih:m""""""”"”hm”"""""""mm""""H"”"""m“""""""} A
g e E l i E .
® SN g . 460 HH 3m BY 303k 4%
. ; FL/FLM1/FLM2/FL1/FL1M1/FL1M2 / . L
® SRR E L S1: EEEH
| s FR1/FR1M1/FR1M2/FH/FHM1/FHM2 / - S2: MysEEM®

® BEEHK
fER%GTw K 5 FC / FCM1/ FCM2 - E
3 S =

® T4

® SEHEERS B : ZT210-FL1-200-S1 / SIEMENS 1FK6 032-6AK71

ZTB210-FL1-200-S1 / SIEMENS 1FK6 032-6AK71

127 128



REEPLRRBIS / 71/718 R / FeRT7 AP ERRBHE / 77/7T8 25 / 345

g iE A B9 ik A

I " ‘ B AR E T T
ZT | ZTB RHIHIRE R 75 0 B Tal— e
i 2c —t+----| e R
_ F- L -~
5 P i Taa ! — :
.... IA\_ _________ ! _. ﬁ\ ":.-'l _-::’2__.. T W, i R A E E E i E
:Ii i l- i L —:-i—l— _ yﬂ-lwf]g%*%ﬁ EEFZI'H‘FZEE l________:___:_______:
-'-—I I::;—:;——--- | L. e : & F2l‘¢ ® anc - e 4
LY FL N Y S5 . S1 Foeis v F : ' 5
s i > rrr = 5 Py 2 ESC TR 1 S ! :
: : , I { YES ED<60% NO *ZEiFGEA] : e Farg* Faad— ; | !
L 1| | t work<20mins :;g : ! ! : :
ZT-L ZT-H ZT-C :I ﬂ]E — : e | - oo :
ZT-FL ZT-FH ZT-FC ' i 1 e s 1 s 8 N, Nyl L AN :
2TB.L ZTB.H ZTB.C ZTB-4M &R | (Eq.2) TERIERLE I (Eq.2) i nE : T\ 3
ZTB-FL ZTB-FH ZTB-FC } } ¥ "L el t lul t
l ENBRARTY it ENRR RS : * : *
%6 T, (Eq.3) %6 T,. (Eq-3) = - L .
Eggk 'l i Bt i)
. V55 7 AR i SR K 03 ' 1.ED = ta: ety 100%, t., . =t + +t,
& | & & ,i._ _J:\),é,, 1 %E szax (Eq.4) i cycle
N ! | k - TR a ME, o Fi&E,
1T | T | | d. J@E, p. FI (Eq.1)
IR =5 ERRRK NO Tomax<T28 T, <T No EREAKX
O NT @ il e i IR T, <T.. am=lN T ORISR, o iz _m
——— 1 T Mwork
| | | [ '
L1 L1 1 I :
H H i s - 'm DRAEERE
T8N B imAT B 19 IR n,, YES N 7 = [ R 3 Eqa.2
ZT-L1 ZT-FL1 I ZT-LM AR AL BN RE Bl IR E nay (EECI-5) E vork SIRNER e
ZTB-L1 ZTB-FL1 ZTB-LM l : r
l E 3T ”2a"ta"T2a3+nzc"tc"T2c3+nzd"td"TzdS
AR KSR NO 3 Tom= 3V n,.xt +n, xt_+n, xt
e _Eﬁf]\mﬁtb -— No <Noy T & Tow & B ( %%%%45) i 2a”*a ''2c” ¢ M12d7 M
jH}f ; (Eq.3)
: :
i I{ I YES E 4. Tomax =Tme> 1 X Kg *
- ——— : . | ..
* & Ty ItERRNEE S22 E1912 @ 7 - Ks MERY
| I I | S L " g AR B I
“'! TL | ) :I‘T_ |_ ) F2rm mré:ljj FZam (Eq's) : KS E':hmﬁ / ,J\B;j-
B —— S 1 s 0 0-1,000
ol i il 4 e ITE R RN 22 IR E. - F,. (ESE%12F) | 1.1 LOAGS 1,500
——T T Faoe B 7] Foue VB THE ) | 1.3 1,500 ~ 2,000
L1 L1 ] b E 1.6 2,000 ~ 3,000
:ﬁ " E E | 1.8 3,000 ~ 5,000
ZT-R1 ZT-FR1 I ZT-RM ' Fam<Fae  NO ey KRN | 2.0 5,000 ~ 9,000
ZTB-R1 ZTB-FR1 ZTB-RM T E 2.05 9,000 ~ 10,000
YEs E not recommended above 10,000
v :
FEMENBERBIEHET - T.e DRBAREEHLE
| s | e
o 45 ZBME%EE o N RENERNE (Eq.4)
P $ETE R i
oo s < : 5. — -
” S5 B HEEE 2N EIR e nz;'j_] x t +nn20 xt +n, %t
_ \ | E'}ﬁ : ,.Q,.,I} JN\=F. E\% \ ] g.}ﬁ : &I} IN=t. i n — 2a a 20 C 2d d
SSD-d16xdwi4 n1 16 26 15 185 ; %B@]E 3 EEIJ\HD _JL—FL\Et- Hi]—ﬁal}]m 3 EEIJ\HD _JL—FL\Et- : 2m i ; ta & tc 3 td
= YT =il LNy = (Eq.5)
SSD-d22xdw18 50 22 36 19.5 23 l l : i
SSD-d25xdw22 50 25 38 19.5 23 J AHIRE r - - X
3 = ! n,.xt.xF, +n, xt xF, +n, ,xt xF
: SSD-d44xdw32 80 44 61 25.5 29.5 n BIBIRE 6 F. =3 8 a8 “m 2% o ¢ 20 d 20
al a8 p 9- Form=™ A nZaxta+n2cxtc+n2dxtd
SIS SSD-d50xdw40 90 50 70 27.5 31.5
| f
SSD-d62xdw50 110 62 86 30.5 34.5 ! Ny Xt XF o Ny Xt XF Ny Xt X F
SSD-d68xdw55 115 68 86 30.5 34.5 i F2am=% Noa*latNoc ity g0 6)
SSD-d75xdw60 138 75 100 32.5 38

129 130




































A,

i il R 55

154



